
Force Traveller Spare Parts Price List Price Our Price
Oil Seal For Valve Stem (fenner) 89.00₹           88.00₹           

Circlip For Tc Engine 9.00₹             8.00₹             

Lock Ring 2.50₹             1.50₹             

Inlet Valve 219.00₹        218.00₹        

Sliding Rail Assembly With Bush 217.00₹        216.00₹        

Elbow For Breather 90.00₹           89.00₹           

Bearing Pin 20.00₹           19.00₹           

Tappet Cover Gasket Bs iii Ed Engine 196.00₹        195.00₹        

Sliding Rail For Chain (lower) 127.00₹        126.00₹        

End Hose 300 Mm 20.00₹           19.00₹           

Filter Element 456.00₹        455.00₹        

Hex Nut M8x1.25 2.50₹             1.50₹             

Woodruff Key ( 4 X 6.5 ) 17.00₹           16.00₹           

Washer 8.00₹             7.00₹             

Hose (tc End) 495.00₹        494.00₹        

Cap For Cyl. Head 9.00₹             8.00₹             

Rubber Buffer 43.00₹           42.00₹           

Breather Pipe Assly 90.00₹           89.00₹           

Sliding Rail For Chain (upper) 127.00₹        126.00₹        

Exhaust Valve (21 4n) 334.00₹        333.00₹        

Hose (intercooler End) 1,117.00₹     1,116.00₹     

Piston 1,619.00₹     1,618.00₹     

Gasket For Chain Tensioner   New 7.00₹             6.00₹             

Gasket For Bearing Housing 12.00₹           11.00₹           

Air Filter Element 645.00₹        644.00₹        

Distance Ring 104.00₹        103.00₹        

Filter Cartridge With O Ring 308.00₹        307.00₹        

Rubber Seal For Thermostat 12.00₹           11.00₹           

Comb.shs M6x30 14.00₹           13.00₹           

Comb.shs M6x60 35.00₹           34.00₹           

Cylinder Head Gasket 798.00₹        797.00₹        

Pin 17.00₹           16.00₹           

Cyl. Head Bolt M 12 X 104 46.00₹           45.00₹           

Oil Pressure Switch 117.00₹        116.00₹        

Hose (manifold End) 767.00₹        766.00₹        

Themostat Valve 740 C 291.00₹        290.00₹        

Gasket (intake Front) 49.00₹           48.00₹           

Gasket (intake Manifold   Rear) 57.00₹           56.00₹           

Piston Pin For Om 616 T C Engine 178.00₹        177.00₹        

Drain Plug Assembly 60.00₹           59.00₹           

Gasket Block & Fip Adaptor Plate 25.00₹           24.00₹           

Cyl. Head Bolt M 12 X 144 56.00₹           55.00₹           

Air Cleaner Assly 2,289.00₹     2,288.00₹     

Stud For Tappet Cover Mounting 30.00₹           29.00₹           

Valve Guide (intake & Exhaust) 35.00₹           34.00₹           



Shoe For Chain Tensioner 297.00₹        296.00₹        

Sensor Unit 169.00₹        168.00₹        

Hose (intercooler End) 346.00₹        345.00₹        

Stud M10 X130 29.00₹           28.00₹           

Connecting Hose (breather) Cruiser Ratio 241.00₹        240.00₹        

Spring 5.00₹             4.00₹             

Gasket (intake Manifold   Middle) 75.00₹           74.00₹           

Gasket Exhaust Elbow Ox45/35 27.00₹           26.00₹           

Gasket For Ve Pump 25.00₹           24.00₹           

Stud M8 X 18 5.00₹             4.00₹             

Rubber Bush 11.00₹           10.00₹           

Engine Mounting Rubber   Rear 580.00₹        579.00₹        

Nut 21.00₹           20.00₹           

Oil Filling Cap 350.00₹        349.00₹        

Gasket  exhaust Manifold 25.00₹           24.00₹           

Fan ( Six Blades ) 913.00₹        912.00₹        

Bundy Tube For Vaccum Pump 338.00₹        337.00₹        

Drive Pinion For Ve Pump 200.00₹        199.00₹        

Clamping Bracket 84.00₹           83.00₹           

U Bolt 20.00₹           19.00₹           

Connecting Rod Large End Bearing Set Imp 212.00₹        211.00₹        

Turbocharger For Td2650ft i (di) Engine 15,932.00₹   15,931.00₹   

Crankshaft Sprocket 428.00₹        427.00₹        

Bearing Bush(intermediate Shaft Front) 469.00₹        468.00₹        

Bush For Fuel Pump Drive ( New Type ) 232.00₹        231.00₹        

Gasket For Timer Cover 72.00₹           71.00₹           

Oil Separator Gama 393.00₹        392.00₹        

Closing Cap A34 12.00₹           11.00₹           

Oil Sump Gasket 167.00₹        166.00₹        

Sealing Ring A18 X 22 8.00₹             7.00₹             

Stud (tc To Outlet Flange) Lgth 32mm 36.00₹           35.00₹           

Radiator Cap 152.00₹        151.00₹        

Engine Mtg.rubber 579.00₹        578.00₹        

Hose (oil Drain) 163.00₹        162.00₹        

Water Separator 657.00₹        656.00₹        

Rocker Lever Assembly 2,042.00₹     2,041.00₹     

Thermostat Housing Cover 108.00₹        107.00₹        

Fuel Pipe Assy(feed Pump To Fuel Filter) 207.00₹        206.00₹        

Flange 160.00₹        159.00₹        

Main Bearing Std. Set 849.00₹        848.00₹        

Banjo Bolt 31.00₹           30.00₹           

Cylinder Liner 797.00₹        796.00₹        

Radiator Top Hose (al Radiator) 297.00₹        296.00₹        

Turbo Oil Drain Pipe Assy 1,128.00₹     1,127.00₹     

Intermediate Wheel Shaft 2,235.00₹     2,234.00₹     

Assembly Ehaust Silencer 3,619.00₹     3,618.00₹     

Air Cleaner Assembly (td 2650 F Iieg Engine) 1,497.00₹     1,496.00₹     



Asy Oil Sump Lower T/c 1,054.00₹     1,053.00₹     

Water Pump Assly Comp 5,027.00₹     5,026.00₹     

Dipstick Assembly 42.00₹           41.00₹           

Guide Tube For Dipstick 76.00₹           75.00₹           

Oil Sump Upper Asly (ncr)t/c 7,866.00₹     7,865.00₹     

Woodruff Key (flywheel On Crankshaft) 34.00₹           33.00₹           

Crank Shaft Assy(di Turbo Roof Top Ac+ps 32,955.00₹   32,954.00₹   

Sealing Ring A18 X 24 10.00₹           9.00₹             

Tappet Cover M/ced Bs iii Ed Eng 2,489.00₹     2,488.00₹     

Inter Cooler (di Euro ii) 6,665.00₹     6,664.00₹     

Fuel Suction Pipe Assy(w. Sep feed Pump) 413.00₹        412.00₹        

Fuel Suction Pipe Assy(tank To Wter Sep) 289.00₹        288.00₹        

Fuel Return Pipe Assy (fip To Fuel Tank) 287.00₹        286.00₹        

Fip Sprocket New Design Type 2,026.00₹     2,025.00₹     

Camshaft Assly 3,277.00₹     3,276.00₹     

Conn Rod Assy Set (di turbo) 7,047.00₹     7,046.00₹     

Chain For Oil Pump Drive 420.00₹        419.00₹        

Cogged Fan Belt 995 Mm Long 356.00₹        355.00₹        

Fuel Filter Assembly (hand Primer) 4,833.00₹     4,832.00₹     

Mico Super Filter Insert 115.00₹        114.00₹        

Crankshaft Sealing Ring (kross Int.) 82.00₹           81.00₹           

Thrust Washer Set Std 272.00₹        271.00₹        

Main Brg Set Ist U S 964.00₹        963.00₹        

Starter Ring (140 t) 754.00₹        753.00₹        

Connecting Rod Nut 62.00₹           61.00₹           

Connecting Rod Bolt 181.00₹        180.00₹        

Repair Kit Bearing Brackets For Camshaft 3,141.00₹     3,140.00₹     

Idler Sprocket Assembly 337.00₹        336.00₹        

Bearing Pin For Idler Sprocket Mounting 64.00₹           63.00₹           

Bearing Pin For Sliding Rail Bottom 38.00₹           37.00₹           

Bearing Pin 18.00₹           17.00₹           

Assembly Rocker Lever 9,080.00₹     9,079.00₹     

Cap Nut For Valve 48.00₹           47.00₹           

Drive Sprocket 359.00₹        358.00₹        

Gasket (spin  on Filter Head To Adaptor) 39.00₹           38.00₹           

Gasket Elbow Intet Manifld 28.00₹           27.00₹           

Al. Radiator T1 Tcic 7,700.00₹     7,699.00₹     

Hose Rad.bottom To Metal Pipe (old Face) 181.00₹        180.00₹        

Air Warn Indicator 514.00₹        513.00₹        

Piston Ring Groove   3 325.00₹        324.00₹        

Dowl Pin 10 M6 X 16 8.00₹             7.00₹             

Dowel Pin 8 M6 X 16 5.00₹             4.00₹             

Stud M8x30 7.00₹             6.00₹             

T/c Oil Seal Bkt 541.00₹        540.00₹        

Dowel Pin 10.00₹           9.00₹             

Ball 17mm 20.00₹           19.00₹           

Pl Washer A10.5 2.50₹             1.50₹             



Wave Washer B6 2.50₹             1.50₹             

Stud M10x35 16.00₹           15.00₹           

Holder For Dipstick Guide Tube 14.00₹           13.00₹           

Hhs M8 X 12 4.00₹             3.00₹             

Wave Washer 3.00₹             2.00₹             

Comb.shs M6x15 12.00₹           11.00₹           

Hhs M6 X 12 3.00₹             2.00₹             

Ahs M8 X 95 46.00₹           45.00₹           

Securing Pin 4.00₹             3.00₹             

Cap 40 6.00₹             5.00₹             

Sealing Ring A 12 X 17 8.00₹             7.00₹             

Sealing Ring A 8 X 12 4.00₹             3.00₹             

Dowel Pin M6 X 14 8.00₹             7.00₹             

Rubber Grommet For Dipstick 6.00₹             5.00₹             

Bolt M 12 X 75 25.00₹           24.00₹           

Threaded Bush 13.00₹           12.00₹           

Dust Plate 28.00₹           27.00₹           

Packing Strip 9.00₹             8.00₹             

Hex Soc. Head Pipe Plug M10 X 1 11.00₹           10.00₹           

Hex Head Pipe Plug M14 X 1 16.00₹           15.00₹           

Hex Socket Plug M18 X 1.5 14.00₹           13.00₹           

Sealing Ring 4.00₹             3.00₹             

Hex Head Screw M10 X 22 6.00₹             5.00₹             

Hex Head. Bolt M8 X 18 13.00₹           12.00₹           

Shb M8 X 22 9.00₹             8.00₹             

Adaptor Flange For Ve Pump 360.00₹        359.00₹        

Di T/c Eng.block W/int.flange 45,928.00₹   45,927.00₹   

Shs M6x16 Din 912   8.8 Bts 170202.22 6.00₹             5.00₹             

Feed Pump Flange M/ced 426.00₹        425.00₹        

Stud M6 X 20 Din 835 8.8 Bts170202.22 4.00₹             3.00₹             

Piston Cooling Nozzle Assy (td2650ft i) 68.00₹           67.00₹           

Valve Assy.(pc nozzle) 71.00₹           70.00₹           

Tor.vibration Damper (turbo A/c) 2,351.00₹     2,350.00₹     

Shs M8 X 45 10.00₹           9.00₹             

Dowel Pin 6 M6 X 16 5.00₹             4.00₹             

Pulley Ac Ps Doubled Grooved 1,965.00₹     1,964.00₹     

Conical Washer For Crankshaft Pulley 37.00₹           36.00₹           

Bolt M 8 X 1.5 X 45 47.00₹           46.00₹           

Thurst Washer Set 1st O S 289.00₹        288.00₹        

Thurst Washer Set 2nd O S 263.00₹        262.00₹        

Fly Wheel Assly 4,268.00₹     4,267.00₹     

Ball Bearing 6202 115.00₹        114.00₹        

Flywheel Bolt 18.00₹           17.00₹           

Piston Ring Groove   1 389.00₹        388.00₹        

Piston Ring Groove   2 311.00₹        310.00₹        

Timing Pointer 58.00₹           57.00₹           

Spacer (crankshaft Sprocket To Sprocket) 31.00₹           30.00₹           



Cover Ring For Crankshaft 11.00₹           10.00₹           

Connecting Rod Bush 92.00₹           91.00₹           

Bal.disc (di t/c ac+ps) 1,340.00₹     1,339.00₹     

Hhs M8 X 25 5.00₹             4.00₹             

Spring Washer B6 2.50₹             1.50₹             

Comb.hhs M5x10 6.00₹             5.00₹             

Clamp A8 2.50₹             1.50₹             

Cyl. Head Bolt M 12 X 119 50.00₹           49.00₹           

Pl Washer 8.4 2.50₹             1.50₹             

Dowel Pin 6.00₹             5.00₹             

Comb.shs M8x20 15.00₹           14.00₹           

Pl Washer A6.4 2.50₹             1.50₹             

Hhs M6 X 15 4.00₹             3.00₹             

Hose Clip (18 25) 11.00₹           10.00₹           

Threaded Ferrule 74.00₹           73.00₹           

Sealing Ring 24.00₹           23.00₹           

Ball 6 Mm 2.50₹             1.50₹             

Taper Plug For Closing 5.00₹             4.00₹             

Washer 4.00₹             3.00₹             

Stud M10 X 30 10.00₹           9.00₹             

Oil Tube Assy. Complete 107.00₹        106.00₹        

Combination Bolt M6 X 12 5.00₹             4.00₹             

Assy. Breather Tube 106.00₹        105.00₹        

Clamp For Breather Tube 4.00₹             3.00₹             

Bolt M6 X 12 9.00₹             8.00₹             

Rubber Seal For Oil Filler Cap 5.00₹             4.00₹             

Clamp For Oil Seperator 29.00₹           28.00₹           

Expansion Plug (bearing Bracket) 13.00₹           12.00₹           

Cyl.head With/cam Bkts(bs iii Ed Engine) 26,260.00₹   26,259.00₹   

Hex Nut M8x1.25 Din934 8 Bts170102.20 3.00₹             2.00₹             

Hhs M5 X 10 Din 933   8.8 Bts 170102.20 2.00₹             1.00₹             

Rubber Tube For Td2650fti Bsiii 49.00₹           48.00₹           

Thermo Switch For Ve Kksb Pump(70+/ 3deg 629.00₹        628.00₹        

Washer For Intermediate Shaft Bush 12.00₹           11.00₹           

Camshaft Sprocket 493.00₹        492.00₹        

Washer For Camshaft Sprocket 42.00₹           41.00₹           

Spring Washer B14 4.00₹             3.00₹             

Bolt M14 X 1.5 X 40 For Camshaft Sprocket 20.00₹           19.00₹           

Spacer Ring For Camshaft Sprocket 68.00₹           67.00₹           

Duplex Chain 5,420.00₹     5,419.00₹     

Safety Bolt For Chain 18.00₹           17.00₹           

Bush For Idler Sprocket 73.00₹           72.00₹           

Thrust Ring For Intermediate Wheel Shaft 41.00₹           40.00₹           

Nut 9.00₹             8.00₹             

Closing Bolt Am 18 X 1.5 24.00₹           23.00₹           

Woodruf Key 4x5 Din6888 Bts170102.10 18.00₹           17.00₹           

Spring Washer 2.50₹             1.50₹             



Rocker Shaft Support 229.00₹        228.00₹        

Dowel Bush (fitting Cover) For Rocker 11.00₹           10.00₹           

Washer For Exhaust Manifold 6.00₹             5.00₹             

Hex Head Bolt M10 X 90 18.00₹           17.00₹           

Tensioning Spring For Rocker Levers 6.00₹             5.00₹             

Rocker Shaft 158.00₹        157.00₹        

Roto Cap 114.00₹        113.00₹        

Valve Spring 48.00₹           47.00₹           

Valve Spring Retainer 37.00₹           36.00₹           

Hex Lock Nut For Valve 8.00₹             7.00₹             

Sealing Ring A21 X 26 10.00₹           9.00₹             

Bolt M8 X 50 8.00₹             7.00₹             

Circlip 2.50₹             1.50₹             

Bolt M8 X 20 4.00₹             3.00₹             

Assembly Bearing Pin   Sliding Rail 38.00₹           37.00₹           

Pressure Spring Chain Tensioner 5.00₹             4.00₹             

Pin Chain Tensioner 5.00₹             4.00₹             

Ball Cage   Chain Tensioner nylon 4.00₹             3.00₹             

Ball 5mm Iii Din 5401 2.50₹             1.50₹             

Ball Seat Ring  Chain Tensioner 15.00₹           14.00₹           

Sealing Ring A26 X 31 Din 7603 Cu 26.00₹           25.00₹           

Locking Bolt   Chain Tensioner Assy 47.00₹           46.00₹           

Spacer (semi Circular) 10.00₹           9.00₹             

Dowel Pin 6m6 X 10 5.00₹             4.00₹             

Drive Gear Assembly 279.00₹        278.00₹        

Hex Head Screw M6 X 20 2.50₹             1.50₹             

Screw M6 X 20 3.00₹             2.00₹             

Piston 55.00₹           54.00₹           

Pin 7.00₹             6.00₹             

Spring 12.00₹           11.00₹           

Screw Plug 47.00₹           46.00₹           

Strainer 24.00₹           23.00₹           

Damper 95.00₹           94.00₹           

Sealing Ring 28.00₹           27.00₹           

Bolt M6 X 65 5.00₹             4.00₹             

Bolt M6 X 65 10.00₹           9.00₹             

Bolt M8 X 80 10.00₹           9.00₹             

Washer 15.00₹           14.00₹           

Hhs M8 X 25 5.00₹             4.00₹             

Bushing 21.00₹           20.00₹           

Shs M8 X 25 9.00₹             8.00₹             

Oil Filter Adaptor 562.00₹        561.00₹        

Threded Bush Spin on Filter 71.00₹           70.00₹           

Adaptor For Tc Oil Return Pipe 46.00₹           45.00₹           

Lub Oil Pipe Assly 1,441.00₹     1,440.00₹     

Pl Washer A8.4 2.50₹             1.50₹             

Wave Washer B 8 2.50₹             1.50₹             



Hhb M8 X 90 14.00₹           13.00₹           

Cleveloc Nut M 8 5.00₹             4.00₹             

Stud (tc To Outlet Flange) 38.00₹           37.00₹           

Intake Manifold Di Engine 2,519.00₹     2,518.00₹     

Hose Clip (43 65) 113.00₹        112.00₹        

Elbow (intake Manifold) Bs iii (iive) 463.00₹        462.00₹        

Hose Clip (57 79) St. Steel 117.00₹        116.00₹        

Intercooler Pipe (manifold End) 360.00₹        359.00₹        

Intercooler Pipe (tc End) 643.00₹        642.00₹        

Hose (compressor To Swing Valve)euro 2 47.00₹           46.00₹           

Outlet Flange T1/xl4dit/c 893.00₹        892.00₹        

Exhaust Manifold Di.tc 2,312.00₹     2,311.00₹     

Hhs M8 X 35 5.00₹             4.00₹             

Holding Bracket For Exhaust System 24.00₹           23.00₹           

Rubber Buffer/exhaust Pipe To Frame 62.00₹           61.00₹           

Two Hole Flange 171.00₹        170.00₹        

Exhaust Clamp   Rear 47.00₹           46.00₹           

Hhs M8 X 20 6.00₹             5.00₹             

Extension Pipe Exhaust Flange 609.00₹        608.00₹        

Catcon Assly (ve Mech) 11,280.00₹   11,279.00₹   

Exhaust Pipe Assly.(oxycat Front) 341.00₹        340.00₹        

Pipe Clamp (front) 48.00₹           47.00₹           

Hhb M8 X 85 Din 931   8.8 Bts 170202 22 11.00₹           10.00₹           

Tail Pipe Assly. 2750wb  3100 Wb 863.00₹        862.00₹        

Exhaust Intermidiate Pipe Assy 369.00₹        368.00₹        

Washer For Water Pump Housing 5.00₹             4.00₹             

Hhs M8 X 30 6.00₹             5.00₹             

Hhb M8 X 38 6.00₹             5.00₹             

Hub For Pulley 166.00₹        165.00₹        

Integral Water Pump Bearing With Ceramic Ring 1,645.00₹     1,644.00₹     

Impeller 218.00₹        217.00₹        

Gasket For Water Pump Assly 7.00₹             6.00₹             

Water Pump Housing 1,037.00₹     1,036.00₹     

Hhs M6 X 18 4.00₹             3.00₹             

Pulley Water Pump Assy. (sheet Metal) 337.00₹        336.00₹        

Water Pump Seal Kaco (nt) 682.00₹        681.00₹        

Hhb M8 X 65 9.00₹             8.00₹             

Hhsc M 6 X 20 4.00₹             3.00₹             

Hose Clip 16.00₹           15.00₹           

Hose Pipe 42 X 51 X 400 40.00₹           39.00₹           

Hose Clip 21.00₹           20.00₹           

Combination Screw M6 X 22 9.00₹             8.00₹             

Pl Washer A6 2.50₹             1.50₹             

Assy Strut For Top Support 98.00₹           97.00₹           

Radiator Cowl 646.00₹        645.00₹        

Phs Am5x15 Din 7985 4.8 Bts170202.24 2.50₹             1.50₹             

Star Washer J 8.4 Din 6798 Bts170202.12 1.00₹             -₹               



Thermostat Assy.ox45/35 1,205.00₹     1,204.00₹     

Metal Pipe   Radiator Bottom To Pipe 240.00₹        239.00₹        

Hose metal Pipe To Thermostat 58.00₹           57.00₹           

Cable Strap 4.00₹             3.00₹             

Condensation Tank Mtg Bkt Assly 24.00₹           23.00₹           

Suction Hose 182.00₹        181.00₹        

Worm Drive Hose Clamp 79.00₹           78.00₹           

Air Cleaner Mtg. Bkt. Assly 338.00₹        337.00₹        

Air Cleaner Hose (connecting Piece) 213.00₹        212.00₹        

Intermediate Pipe (air Cleaner Hose) 85.00₹           84.00₹           

Air Cleaner Pipe 644.00₹        643.00₹        

Hose For Turbo 96.00₹           95.00₹           

Hose Clamp A10/9 N16002 Bts170202.12 5.00₹             4.00₹             

Air Cleaner Hose (connecting Piece) 100.00₹        99.00₹           

Air Cleaner Hose (connecting Piece) 114.00₹        113.00₹        

Clamp 74.00₹           73.00₹           

Air Cleaner Hose 112.00₹        111.00₹        

Metal Pipe Air Cleaner Out 621.00₹        620.00₹        

Turbo Pipe M/c 378.00₹        377.00₹        

Connecting Hose(oil Sepr.to Air Cleaner) 139.00₹        138.00₹        

Hose  turbo In 296.00₹        295.00₹        

Hhb M10x45 10.00₹           9.00₹             

Rubber Washer 3.50₹             2.50₹             

Cup Washer 3.50₹             2.50₹             

Distance Tube 6.00₹             5.00₹             

Sealing Ring 11.00₹           10.00₹           

Feed Pump For Ve Pump 1,586.00₹     1,585.00₹     

Sealing Ring A 12 X 16 5.00₹             4.00₹             

Fuel Filter Mtg Bracket 64.00₹           63.00₹           

H.pre. Pipe Set Dia 1.8id (vp37)ve(mech) 1,358.00₹     1,357.00₹     

Fuel Pipe Assy(fuel Fil Outlet fip Inlet 233.00₹        232.00₹        

Fuel Pipe Bsiii 6.00₹             5.00₹             

Overflow Pipe Adaptor (for 1st Injector) 24.00₹           23.00₹           

Overflow Pipe Adaptor (2 3 4 Injectors) 27.00₹           26.00₹           

Injector Assly (regular) Vp 37 Exl 4 4,350.00₹     4,349.00₹     

Adoptor For Injector Bs iii Ed Eng 59.00₹           58.00₹           

Clamp For Injector For Bs iii Ed Engine 674.00₹        673.00₹        

Overflow Banjo On Rotary Fip Xl 3/4 63.00₹           62.00₹           

Nut 4.00₹             3.00₹             

Hhb M10 X 40 11.00₹           10.00₹           

Spring Washer B 10 2.50₹             1.50₹             

Hhb M10x35 10.00₹           9.00₹             

Hhs M10x30 9.00₹             8.00₹             

Bolt M10 X 25 8.00₹             7.00₹             

Hex Head Bolt M10 X 125 24.00₹           23.00₹           

Connecting Link 113.00₹        112.00₹        

Adjuster For Alternator 20.00₹           19.00₹           



Adjusting Link (euro iii) 93.00₹           92.00₹           

Alternator Bracket 718.00₹        717.00₹        

Banjo Bolt 29.00₹           28.00₹           

Fip (bs iii ) Ve Mech (kksb) 61,651.00₹   61,650.00₹   

Lower Support For Fip 24.00₹           23.00₹           

Alternator W/vacuum Pump(65amps)m 508 19,220.00₹   19,219.00₹   

Starter Motor Assly(tempo ) 8,179.00₹     8,178.00₹     

Bolts For Eng. Mtg. Rubber 25.00₹           24.00₹           

Eng.mtg Bkt Rh 1,125.00₹     1,124.00₹     

Eng.mtg Bkt Lh.m/ced (t1 Ve Pump) 800.00₹        799.00₹        

Engine Mtg Cross Member Assly 6,029.00₹     6,028.00₹     

Gear Box Mtg Bkt Assly 2,001.00₹     2,000.00₹     

Chain Tensioner Assembly New 699.00₹        698.00₹        

Crankshaft Oil Seal 605.00₹        604.00₹        

Condensation Tank Assly 141.00₹        140.00₹        

Hose Alternator To Vaccum Pump 213.00₹        212.00₹        

Grooved Pin Cover To Bearing Bracket 6.00₹             5.00₹             

Rubber Bush For Tower Assy 6.00₹             5.00₹             

Lock Shifting Rod To Shift Lever 6.00₹             5.00₹             

Bushing Shift Lever Bearing 10.00₹           9.00₹             

Sliding Block Shift Lever Bearing 18.00₹           17.00₹           

Socket 21.00₹           20.00₹           

Bearing Shift Lever Bearing 47.00₹           46.00₹           

Follower 92.00₹           91.00₹           

Tube 14.00₹           13.00₹           

Knob For Spring Holder 8.00₹             7.00₹             

Follower 8.00₹             7.00₹             

Spring 4.00₹             3.00₹             

Bellow Cab Sealing 214.00₹        213.00₹        

Ball For Acceletor Pedal 9.00₹             8.00₹             

Bearing Pin For Crank Lever 30.00₹           29.00₹           

Spring 4.00₹             3.00₹             

Accelerator Cable 81.00₹           80.00₹           

Bearing Housing 12.00₹           11.00₹           

Acceleration Abutment Bracket 27.00₹           26.00₹           

Bearing Bush For Crank Lever 8.00₹             7.00₹             

Lever Assy.(for Accelerator) 67.00₹           66.00₹           

Slave Cylinder With Push Rod 1,245.00₹     1,244.00₹     

Rubber Grommet Shift Lever Bottom 16.00₹           15.00₹           

Dowel Pin 5h8 X 24 Din 7 6.00₹             5.00₹             

Synchroniser Ring 2nd & 3rd 470.00₹        469.00₹        

Needle Bearing Mainshaft Front 20 X 30 X 19 92.00₹           91.00₹           

Spring For Pedal Lever 10.00₹           9.00₹             

Bearing 19.00₹           18.00₹           

Foot Pedal Cover M3 & M4 25.00₹           24.00₹           

Retaining Washer 4.00₹             3.00₹             

Link 13.00₹           12.00₹           



Synchroniser Ring 3rd & 4th Speed 384.00₹        383.00₹        

Ball 6.50 Mm 1.00₹             -₹               

Connector For Accelerator Cabel (om616) 39.00₹           38.00₹           

Washer Shifting Tube 4.00₹             3.00₹             

Lock Intermediate Lever 10.00₹           9.00₹             

Accelerator Pedal Assly. T1 133.00₹        132.00₹        

Clutch Master Cylinder For T 1 (kbx) 1,075.00₹     1,074.00₹     

Reverse Light Switch 110.00₹        109.00₹        

Nut For Flange 100.00₹        99.00₹           

Cylinder Rolling Bearing Without Collar 691.00₹        690.00₹        

Hhs M8 X 60 9.00₹             8.00₹             

Spherical Piece Shift Lever 10.00₹           9.00₹             

Boot Shift Lever 31.00₹           30.00₹           

Ball Socket 18.00₹           17.00₹           

Accelerator Abutment Bkt.assembly 162.00₹        161.00₹        

Screw Plug Oil Filling 24.00₹           23.00₹           

Shifting Shaft Lower Double Ball For T1 389.00₹        388.00₹        

Snap Ring As Required 2.47 Mm 13.00₹           12.00₹           

Shim For Clutch Slave Cylinder 15.00₹           14.00₹           

Mechl Brake Light Switch ( Bal 400 ) 107.00₹        106.00₹        

Shifting Rod 2nd & 3rd Speed 78.00₹           77.00₹           

Drain Plug Assy. M24x1.5 Magnetic 121.00₹        120.00₹        

Needle Bearing 4th Speed Gear 35 X 40 X 36.7 114.00₹        113.00₹        

Snap Ring As Required 1.90 Mm 20.00₹           19.00₹           

Sliding Sleeve 1,907.00₹     1,906.00₹     

Synchroniser Body (2nd & 3rd Speed) 2,326.00₹     2,325.00₹     

Synchroniser Body 4th & 5th Speed 2,612.00₹     2,611.00₹     

Cl. Release Bearing (imp.) 961.00₹        960.00₹        

Needle Bearing (bush) 14x20x31 149.00₹        148.00₹        

Collar Bush 1,258.00₹     1,257.00₹     

Gear 5th Speed 3,146.00₹     3,145.00₹     

Holding Ring 18.00₹           17.00₹           

Sliding Sleeve 2,099.00₹     2,098.00₹     

3rd On Main Shaft With Clutch Body 4,205.00₹     4,204.00₹     

Pin Shifting Tube 10.00₹           9.00₹             

Shifting Rod 1st Speed And Reverse 85.00₹           84.00₹           

Shifting Rod 4th & 5th Speed 137.00₹        136.00₹        

Shifting Fork 2nd & 3rd Speed 747.00₹        746.00₹        

Tapered Roller Bearing Countershaft 414.00₹        413.00₹        

Needle Bearing 2nd Speed Gear 42x47x 28mm.(imported) 153.00₹        152.00₹        

Assy Gear Shift Block 7,412.00₹     7,411.00₹     

Acc. Pedal Lever 86.00₹           85.00₹           

Clutch Cover Assly Dia 240 Mm 3,737.00₹     3,736.00₹     

Gear Box Front Cover Finish 609.00₹        608.00₹        

Bearing Sleeve For Gear Box Front Cover 145.00₹        144.00₹        

Drive Shaft 5,298.00₹     5,297.00₹     

Circlip Countershaft Front 8.00₹             7.00₹             



Needle Bearing 3rd Speed Gear 204.00₹        203.00₹        

Needle Bearing 1st Speed Gear 168.00₹        167.00₹        

2nd Gear On Main Shaft 3,948.00₹     3,947.00₹     

Int. Lever 2nd & 3rd Speed 303.00₹        302.00₹        

Assly Bearing Block 910.00₹        909.00₹        

Clutch Plate Assly Dia 240 Mm 3,188.00₹     3,187.00₹     

Taper Roller Bearing 30205 311.00₹        310.00₹        

Release Yoke Assly 462.00₹        461.00₹        

Lock Washer Shifting Rod To Lever 2.50₹             1.50₹             

Knob Five speed 69.00₹           68.00₹           

Wave Washer B10 2.50₹             1.50₹             

Hex Bolt M10 X 70 15.00₹           14.00₹           

Shs M8 X 15 6.00₹             5.00₹             

Bell Housing 4,962.00₹     4,961.00₹     

Ball Pin Release Yoke Bearing 79.00₹           78.00₹           

Nut Ball pin To Bell housing 5.00₹             4.00₹             

Screw M10 X 36 Bell Housing To Transmission Case 16.00₹           15.00₹           

Wave Washer Transmission Case Rear Cover To 3.00₹             2.00₹             

Gearbox Housing 5,452.00₹     5,451.00₹     

Lock Ring 2.40 Mm 42.00₹           41.00₹           

End Cover Bare 4,728.00₹     4,727.00₹     

Dowel Pin Transmission Case Rear Cover 7.00₹             6.00₹             

Ball Bearing Mainshaft Rear 1,322.00₹     1,321.00₹     

Drive Gear Speedometer Drive 634.00₹        633.00₹        

Spindle Speedometer Drive 625.00₹        624.00₹        

Seal Ring Outside 6.00₹             5.00₹             

Seal Ring Inside 100.00₹        99.00₹           

Screw Speedometer Drive 79.00₹           78.00₹           

Screw Transmission Case Rear Cover To 37.00₹           36.00₹           

Screw Transmission Case Rear Cover To 19.00₹           18.00₹           

Seal Ring Transmission Case Rear Cover To 14.00₹           13.00₹           

Screw Transmission Case Rear Cover To 24.00₹           23.00₹           

Screw Transmission Case Rear Cover To 9.00₹             8.00₹             

Flange Mainshaft Output 1,222.00₹     1,221.00₹     

Seal Ring Oil Drain 4.00₹             3.00₹             

Gasket Front (for Gear Box Hsg. & Front Cover) 26.00₹           25.00₹           

Screw Guide Tube To Transmission Case Front Cover 3.00₹             2.00₹             

Spacer Washer 17.00₹           16.00₹           

Screw Case Cover To Transmisison   Hcls M7x22 9.00₹             8.00₹             

Shifting Fork 4th & 5th Speed 741.00₹        740.00₹        

Gear Shaft Lever Cover Lateral 1,851.00₹     1,850.00₹     

Shifting Shaft   1st & Reverse Gear 79.00₹           78.00₹           

Detent 782.00₹        781.00₹        

Index Bolt Detent   (detent Pin Big For Ball Cage) 40.00₹           39.00₹           

Spring Detent 4.00₹             3.00₹             

Ball Detent   7.44 2.50₹             1.50₹             

Screw Detent To Transmission Case Cover 9.00₹             8.00₹             



Assly. Shifting Block 2/3 924.00₹        923.00₹        

Assly. Shifting Block 3/4 757.00₹        756.00₹        

Overdrive Gear Box (g1 18/5b) For T1 Rhd 77,491.00₹   77,490.00₹   

Housing For Speedo Shaft T1 226.00₹        225.00₹        

Lay Shaft 12,730.00₹   12,729.00₹   

Gear Contact Mesh Gear 2,592.00₹     2,591.00₹     

Race / Bearing Sleeve 204.00₹        203.00₹        

Mainshaft 6,736.00₹     6,735.00₹     

Spacer Washer As Required 0.10 Mm 2.00₹             1.00₹             

Snap Ring As Required 2.50 Mm 14.00₹           13.00₹           

Snap Ring As Required 2.53 Mm 13.00₹           12.00₹           

Snap Ring As Required 2.56 Mm 12.00₹           11.00₹           

Snap Ring As Required 2.59 Mm 12.00₹           11.00₹           

Snap Ring As Required 2.62 Mm 11.00₹           10.00₹           

Snap Ring As Required 2.65 Mm 11.00₹           10.00₹           

Snap Ring As Required 2.00 Mm 16.00₹           15.00₹           

Snap Ring As Required 2.10 Mm 10.00₹           9.00₹             

Snap Ring As Required 2.18 Mm 13.00₹           12.00₹           

Snap Ring Instead Of Nut 13.00₹           12.00₹           

Shifting Sleeve 2,190.00₹     2,189.00₹     

Spring 4.00₹             3.00₹             

Synchroniser Body 1st Speed 2,481.00₹     2,480.00₹     

Ring Half 203.00₹        202.00₹        

Thrust Washer 2nd Speed Gear 3.50 Mm 62.00₹           61.00₹           

Thrust Washer 2nd Speed Gear 3.60 Mm 62.00₹           61.00₹           

Thrust Washer 2nd Speed Gear 3.70 Mm 61.00₹           60.00₹           

Thrust Washer 2nd Speed Gear 3.80 Mm 61.00₹           60.00₹           

Thrust Washer 2nd Speed Gear 3.90 Mm 61.00₹           60.00₹           

Thrust Washer 2nd Speed Gear 4.00 Mm 61.00₹           60.00₹           

Thrust Washer 2nd Speed Gear 4.10 Mm 61.00₹           60.00₹           

Thrust Washer 2nd Speed Gear 4.20 Mm 61.00₹           60.00₹           

Thrust Washer 4.30 Mm 61.00₹           60.00₹           

Cylinder Roller Bearing Mainshaft Centre 1,133.00₹     1,132.00₹     

Support Plate Mainshaft Bearing Centre 179.00₹        178.00₹        

Screw Retaining Ring To Transmission Case 5.00₹             4.00₹             

Spring Washer Retaining Ring To Transmission Case 2.50₹             1.50₹             

Dog Clutch Gear Reverse Speed 3,121.00₹     3,120.00₹     

Thrust Washer As Required 10.40 Mm 55.00₹           54.00₹           

Reverse Idler Shaft 626.00₹        625.00₹        

Reverse Idler Gear (intermediate Gear) 1,748.00₹     1,747.00₹     

Needle Bearing Reverse Idler Gear 20 X 30 X 30 121.00₹        120.00₹        

Thrust Washer Reverse Idler Gear 37.00₹           36.00₹           

Shifting Rod 1st Speed And Reverse 478.00₹        477.00₹        

Shifting Fork 1st Speed And Reverse 967.00₹        966.00₹        

Screw Shifting Rod Detent 56.00₹           55.00₹           

Seal Ring Shifting Rod Detent 2.50₹             1.50₹             

Spring 1st Speed And Reverse 4.00₹             3.00₹             



Pin Shifting Rod Detent 64.00₹           63.00₹           

Shifter 1st Speed And Reverse 437.00₹        436.00₹        

Spacer 13.00₹           12.00₹           

Spacer 13.00₹           12.00₹           

1st Gear On Main Shaft 2,528.00₹     2,527.00₹     

Sheet Metal Screw 2.50₹             1.50₹             

Stop Reverse Speed 37.00₹           36.00₹           

Bracket For Cap 4.00₹             3.00₹             

Closing Cap 7.00₹             6.00₹             

Spacer 15.00₹           14.00₹           

Shifting Tube 422.00₹        421.00₹        

Bushing Shifting Tube 35.00₹           34.00₹           

Circlip Shifting Tube 6.00₹             5.00₹             

Spring Shifting Tube 5.00₹             4.00₹             

Clamping Sleeve Shifting Tube 4.00₹             3.00₹             

Circlip 6.00₹             5.00₹             

Lock Ring Shifting Shaft Bearing 6.00₹             5.00₹             

Bushing Shifting Shaft Bearing 27.00₹           26.00₹           

Lock Intermediate Lever 6.00₹             5.00₹             

Nut End Piece To Shifting Rod 4.00₹             3.00₹             

Stopper Ring Shifting Tube 99.00₹           98.00₹           

Lever 1st Speed And Reverse 460.00₹        459.00₹        

Lever 4th & 5th Speed 326.00₹        325.00₹        

Bushing For Latch 63.00₹           62.00₹           

Control Bush 66.00₹           65.00₹           

Compression Spring 5.00₹             4.00₹             

Pressure Pin 5.00₹             4.00₹             

Gear Shifting Lever For 2nd & 5th Gear 94.00₹           93.00₹           

Hhb M6 X 40 Din 931   8.8 Bts 170102 20 4.00₹             3.00₹             

End Cover / Gear Shifting Housing 25.00₹           24.00₹           

Cover Shift Lever 57.00₹           56.00₹           

Spring Shift Lever 5.00₹             4.00₹             

Repair Kit Shifting Parts 1,120.00₹     1,119.00₹     

Gear Shifting Lever Sub Assy 302.00₹        301.00₹        

Hhs M8 X 18 5.00₹             4.00₹             

Hex Nut M12 X 1.5 10.00₹           9.00₹             

Bleeder Valve (kbx) 51.00₹           50.00₹           

Hex Head Screw M8 X 28 4.00₹             3.00₹             

Hose Clamp 6.00₹             5.00₹             

Gasket 4.00₹             3.00₹             

Pin For Clutch Master Cylinder 15.00₹           14.00₹           

Bracket 4.00₹             3.00₹             

Brake Hose For Slave Cylinder (t1) 210.00₹        209.00₹        

Spring Washer A8 N12004 Bts170202.12 2.50₹             1.50₹             

Stopper Assy 16.00₹           15.00₹           

Assy Clutch Pedal Compl 421.00₹        420.00₹        

Bushing [for Pedal] M3 & M4 11.00₹           10.00₹           



Pedal Pivot Shaft 26.00₹           25.00₹           

Spring Clip M3 10.00₹           9.00₹             

Restoring Spring / Clutch Pedal 15.00₹           14.00₹           

Spring Holder 17.00₹           16.00₹           

Spring 41.00₹           40.00₹           

Minor Repair Kit 272.00₹        271.00₹        

Bundy Tube Assly. L 1460mm 191.00₹        190.00₹        

Major Kit (kbx 619) 269.00₹        268.00₹        

Bleeder Cap For 7/8 Cl Sl Cyld.max.kb 8.00₹             7.00₹             

Assy Pedal Vp 37 317.00₹        316.00₹        

Hhs M6 X10 4.00₹             3.00₹             

Sealing Cord 44.00₹           43.00₹           

Hex Nut M5x0.8 Din934 8 Bts 170202.22 2.50₹             1.50₹             

Gear Shifting Lever For Rev. & 1st Gear 115.00₹        114.00₹        

Seal Ring For Drive Shaft 149.00₹        148.00₹        

Cylinder Roller Bearing Countershaft Central 565.00₹        564.00₹        

Bearing Bush 2nd Speed Gear 167.00₹        166.00₹        

Seal Ring Transmission Case Rear Cover 227.00₹        226.00₹        

Bushing Shift Lever 10.00₹           9.00₹             

Bushing 20.00₹           19.00₹           

Bush 84.00₹           83.00₹           

Wheel Bolt 38.00₹           37.00₹           

Oil Seal 84.00₹           83.00₹           

Rear Shock Absorber   Viton Seal 1,197.00₹     1,196.00₹     

U Bolt (anti Roll Bar Front) 49.00₹           48.00₹           

Clamp For Stabilizer 43.00₹           42.00₹           

Front Shock Absorber   Viton Seal 1,164.00₹     1,163.00₹     

Wheel Bolt 36.00₹           35.00₹           

Shock Absorber Bush With Sleeve   Lower 100.00₹        99.00₹           

End Cover 21.00₹           20.00₹           

Shock Absorber Bush With Sleeve   Upper 52.00₹           51.00₹           

Anti Roll Spring Front 3,006.00₹     3,005.00₹     

Assembly Rod 284.00₹        283.00₹        

Lock Nut 81.00₹           80.00₹           

Bushing King pin 277.00₹        276.00₹        

King Pin T1 Modified Finished 289.00₹        288.00₹        

U Bolt For Front Spring 84.00₹           83.00₹           

Grease Nipple Bm 8x 1 Din 71412 16.00₹           15.00₹           

Spring Buffer T2 Front 189.00₹        188.00₹        

Upper Shock Absrober Bush 41.00₹           40.00₹           

Assembly Spring Plate 341.00₹        340.00₹        

Wheel Cap Front Wheel Hub 35.00₹           34.00₹           

Ball Joint For Tie Rod  rh. Traveller (r 539.00₹        538.00₹        

T1 Wheel Rim For T1 Smooth 3,030.00₹     3,029.00₹     

Rubber Bush 51.00₹           50.00₹           

Taper Roller Bearing 1988/1922 405.00₹        404.00₹        

Wheel Cap (t1) 649.00₹        648.00₹        



Front Axle Assy Complete (smooth Type) 76,068.00₹   76,067.00₹   

Taper Roller Bearing 594.00₹        593.00₹        

Taper Roller Bearing ( Inner 33111) 1,204.00₹     1,203.00₹     

Front Leaf Spring Asembly 5,622.00₹     5,621.00₹     

Leaf Spring No. 1 Of 6863201102 1,106.00₹     1,105.00₹     

Leaf Spring No. 2(with Ptfe Insert) 1,104.00₹     1,103.00₹     

Leaf Spring No. 3(with Ptfe Insert) 962.00₹        961.00₹        

Leaf Spring No. 4(with Ptfe Insert) 818.00₹        817.00₹        

Leaf Spring No. 5(with Ptfe Insert) 675.00₹        674.00₹        

Leaf Spring No. 6(with Ptfe Insert) 470.00₹        469.00₹        

Leaf Spring No. 7(with Ptfe Insert) 373.00₹        372.00₹        

Leaf Spring No. 8(with Ptfe Insert) 246.00₹        245.00₹        

Assly Shackle 360.00₹        359.00₹        

Spring Packing Plate 141.00₹        140.00₹        

Pin (for Rubber Buffer) T2 50.00₹           49.00₹           

Bush 46.00₹           45.00₹           

Hhb M12x1.5x125 Is1364pt.i 8.8 Bts170202 33.00₹           32.00₹           

Holder Stabiliser Bar 44.00₹           43.00₹           

Bush 66.00₹           65.00₹           

U clamp For The Leaf Spring 95.00₹           94.00₹           

Spring Plate 220.00₹        219.00₹        

Rear Leaf Spring Assembly 8,862.00₹     8,861.00₹     

Rear Leaf Spring Assly Ptfe 3050 & 3350 8,611.00₹     8,610.00₹     

Rear Leaf Spring Assembly 3700wb 8,786.00₹     8,785.00₹     

Rear Leaf Spring Assly 3700wb With Ptfe 7,559.00₹     7,558.00₹     

Rear Leaf Spring Assly With Ptfe Insert 7,420.00₹     7,419.00₹     

Rear Leaf Spring Assly Ptfe 3050 & 3350 6,796.00₹     6,795.00₹     

Leaf Spring No. 1 Of 6863203506 1,862.00₹     1,861.00₹     

Leaf Spring No. 2(with Ptfe Insert) 1,758.00₹     1,757.00₹     

Leaf Spring No. 3(with Ptfe Insert) 1,376.00₹     1,375.00₹     

Leaf Spring No. 4(with Ptfe Insert) 1,347.00₹     1,346.00₹     

Helper Spring No. 1 Of 6863203506 1,389.00₹     1,388.00₹     

Helper Spring No. 2 Of 6863203506 799.00₹        798.00₹        

Hhb M14x1.5x145 Is1364pt.i 8.8 Bts170202 63.00₹           62.00₹           

Rear Spring Rubber Buffer 172.00₹        171.00₹        

Leaf Spring No. 1 Of 6863203706 2,284.00₹     2,283.00₹     

Leaf Spring No. 2 (ptfe Agya) 2,169.00₹     2,168.00₹     

Leaf Spring No. 3 (ptfe Agya) 1,612.00₹     1,611.00₹     

Leaf Spring No. 4 (ptfe Agya) 1,095.00₹     1,094.00₹     

Helper Spring No.1 Of 6863203706 1,248.00₹     1,247.00₹     

Helper Spring No.2 Of 6863203706 693.00₹        692.00₹        

Leaf Spring No.1 Of 6863203906 1,941.00₹     1,940.00₹     

Leaf Spring No. 2 (ptfe Agya) 1,830.00₹     1,829.00₹     

Leaf Spring No. 3 (ptfe Agya) 1,420.00₹     1,419.00₹     

Leaf Spring No. 4 (ptfe Agya) 1,293.00₹     1,292.00₹     

Leaf Spring No. 5 (ptfe Agya) 1,458.00₹     1,457.00₹     

Helper Spring No.1 Of 6863203906 1,457.00₹     1,456.00₹     



Helper Spring No.2 Of 6863203906 817.00₹        816.00₹        

Leaf Spring No.1 Of 6863203806 1,762.00₹     1,761.00₹     

Leaf Spring No. 2 (ptfe Agya) 1,682.00₹     1,681.00₹     

Leaf Spring No. 3 (ptfe Agya) 1,301.00₹     1,300.00₹     

Leaf Spring No. 4 (ptfe Agya) 1,183.00₹     1,182.00₹     

Leaf Spring No. 5 (ptfe Agya) 1,068.00₹     1,067.00₹     

Helper Spring No.1 Of 6863203806 1,334.00₹     1,333.00₹     

Helper Spring No.2 Of 6863203806 748.00₹        747.00₹        

Tie Rod Assy T 1/excel 2 3,457.00₹     3,456.00₹     

Front Axle Beam 17,500.00₹   17,499.00₹   

Assy Stub Axle Rh (rhd) 5,225.00₹     5,224.00₹     

Assy Stub Axle Lh (rhd) 5,111.00₹     5,110.00₹     

0il Seal 33.00₹           32.00₹           

Steering Arm (ra) M/ced 2,215.00₹     2,214.00₹     

Axial Taper Roller Bearing (std) 253.00₹        252.00₹        

Spring Dowel 12x40 Din 1481 Bts170102.10 17.00₹           16.00₹           

Bolt For Steering Arm (ra 307) 24.00₹           23.00₹           

Support Lh For Brake Hose (holder) 37.00₹           36.00₹           

Support Rh For Brake Hose (holder) 37.00₹           36.00₹           

Front Wheel Hub (m/c) 2,398.00₹     2,397.00₹     

Shs M6 X 25 Din 912 10.9 Bts 170102.20 6.00₹             5.00₹             

Wheel Cap 525.00₹        524.00₹        

Wheel Cover Duly Plated 171.00₹        170.00₹        

Spare Wheel Carrier Assy 2,176.00₹     2,175.00₹     

Rubber Buffer 35.00₹           34.00₹           

Spare Wheel Mtg. Unit Assy 2,102.00₹     2,101.00₹     

Centre Bearing Rubber Assly 121.00₹        120.00₹        

C.b.bracket 157.00₹        156.00₹        

L Type Spacer 154.00₹        153.00₹        

Slip Seal Assly 151.00₹        150.00₹        

Propeller Shaft Assly. T1 3700 Wb 11,977.00₹   11,976.00₹   

Wheel Rim 3,366.00₹     3,365.00₹     

Cov. Side Panel Front Lh(t1 Upg 3350 Lux 909.00₹        908.00₹        

Cov. Side Panel Frnt Rh(t1 Upg 3350 Lux) 926.00₹        925.00₹        

Covering Side Panel Rear Lh(t1 3350 Lux) 908.00₹        907.00₹        

Covering Side Panel Rear Rh(t1 3350 Lux) 925.00₹        924.00₹        

Covering Side Panel Front Lh T1 3350 Lux 1,337.00₹     1,336.00₹     

Covering Side Panel Front Rh T1 3350 Lux 1,383.00₹     1,382.00₹     

P.s. Pump Support 489.00₹        488.00₹        

Collar Bush (finished) 29.00₹           28.00₹           

Mounting Bracket 17.00₹           16.00₹           

Assy Strg Column Tube (power Strg.) 738.00₹        737.00₹        

Ball Joint For Tie Rod  rh. Traveller (r 539.00₹        538.00₹        

Steering Linkage (drag Link) 1,704.00₹     1,703.00₹     

Oil Pressure Hose New 744.00₹        743.00₹        

Oil Return Hose (power Steering) 402.00₹        401.00₹        

Reservoir With Bkt Assly 629.00₹        628.00₹        



Pulley For P.s. Pump 308.00₹        307.00₹        

Steering Wheel (with Horn Cap ) 2,051.00₹     2,050.00₹     

U J For Strg T40 900.00₹        899.00₹        

Support Bkt For P.s.pump Mtg.bkt 306.00₹        305.00₹        

Power Stg. Mtg. Flange 1,847.00₹     1,846.00₹     

Assly Steering Shaft Ps 835.00₹        834.00₹        

Steering Pump 17,165.00₹   17,164.00₹   

Handle Glass Regulator 77.00₹           76.00₹           

Inner Handle Rh 63.00₹           62.00₹           

Head Lamp Cover Lh (outer) W/o Paint 170.00₹        169.00₹        

Slide For Door Lock 10.00₹           9.00₹             

Reflex Reflector 74.00₹           73.00₹           

Assly. Locking Mechanism/rear Wall Door 735.00₹        734.00₹        

Handle 67.00₹           66.00₹           

Rear Door Lock (traveller) 432.00₹        431.00₹        

Cap Lh   Front Bumper 21.00₹           20.00₹           

Front Bumper (inj. Moulded) W/o Paint 2,994.00₹     2,993.00₹     

F Monogram 190.00₹        189.00₹        

Rubber Buffer For Bonnet 10.00₹           9.00₹             

Escutcheon 15.00₹           14.00₹           

Striker For Bonnet 112.00₹        111.00₹        

Guide Window Run (excel) Lh 86.00₹           85.00₹           

Side Glass Rh. 2,546.00₹     2,545.00₹     

External Rear View Mirror Lh 1,488.00₹     1,487.00₹     

Side Glass Lh. 2,442.00₹     2,441.00₹     

Spacer Disc 10.00₹           9.00₹             

Guide Rail Lh 62.00₹           61.00₹           

Plate For Rear Door T1 95.00₹           94.00₹           

Side Glass Set For Traveller (lh+rh) 4,988.00₹     4,987.00₹     

Window Mechanism Rh 683.00₹        682.00₹        

Kit Force Letter 447.00₹        446.00₹        

Head Lamp Cover Rh (outer) W/o Paint 170.00₹        169.00₹        

Guide (front Bumper) 73.00₹           72.00₹           

Side Cover Head Lamp Lh 542.00₹        541.00₹        

Door Striker Assly Lh 108.00₹        107.00₹        

Cap   Rear Bumper Corner Side 33.00₹           32.00₹           

Guide Rail Rh 62.00₹           61.00₹           

Assembly Grid 80.00₹           79.00₹           

A Post Cover Bottom Assy Lh 753.00₹        752.00₹        

Bottle Holder Rh 711.00₹        710.00₹        

Head Lamp Assy Lh. (t1 Crv16 Facia) 3,543.00₹     3,542.00₹     

A Post Cover Bottom Assy Rh 753.00₹        752.00₹        

Door Grab Handle Lh 477.00₹        476.00₹        

Bonnet Panel Sub Assly 7,104.00₹     7,103.00₹     

Name Plate Traveller 229.00₹        228.00₹        

Head Lamp Assy Rh (t1 Crv16 Facia) 3,543.00₹     3,542.00₹     

Sticker Graphic Set (3700wb /4020wb T1) 2,250.00₹     2,249.00₹     



Assy. Striker Plate Rh (t1) 93.00₹           92.00₹           

Seat Belt Lh For Traveller 1,504.00₹     1,503.00₹     

Assy Front Bumper Mtg. Bracket 168.00₹        167.00₹        

Mud Deflector Lh 1,186.00₹     1,185.00₹     

Sticker Graphic Set T1 (3350) 2,695.00₹     2,694.00₹     

Sticker Graphic Set T1 (4020) 2,695.00₹     2,694.00₹     

Side Cover Head Lamp Rh 542.00₹        541.00₹        

Fender Assly Rh 2,945.00₹     2,944.00₹     

Mud Deflector Rh 1,186.00₹     1,185.00₹     

Mesh   Front Bumper 126.00₹        125.00₹        

A Post Cover Top Lh 193.00₹        192.00₹        

Assy Sun Visor Complete 187.00₹        186.00₹        

Seat Belt Rh For Traveller 1,456.00₹     1,455.00₹     

Rear Bumper Middle 1,983.00₹     1,982.00₹     

Rear Bumper Middle(inj.moulded)w/o Paint 781.00₹        780.00₹        

Assy Side Mtg. Bracket Lh (front Bumper) 154.00₹        153.00₹        

Assy Side Mtg. Bracket Rh (front Bumper) 154.00₹        153.00₹        

Sticker Graphic Set (3050wb /3350wb T1) 2,372.00₹     2,371.00₹     

Front Grill White 2,902.00₹     2,901.00₹     

Bonnet Sealing Mtg.panel 1,082.00₹     1,081.00₹     

Front Panel Assy (ve) 48,832.00₹   48,831.00₹   

Covering Panel For Cab Door Rh. (t1) 759.00₹        758.00₹        

Covering Panel For Cab Door Lh (t1) 847.00₹        846.00₹        

Guide Window Run Rh (excel) 86.00₹           85.00₹           

Assly Rear Door Outer Rh 597.00₹        596.00₹        

Rear Door Outer Lh 678.00₹        677.00₹        

Dr. Seat Assy. Complete 12,316.00₹   12,315.00₹   

Seal For Bonnet 227.00₹        226.00₹        

Assly Cab Door Outer Lh 710.00₹        709.00₹        

Assly Cab Door Outer Rh 626.00₹        625.00₹        

Bonnet Hinge Assy Lh 130.00₹        129.00₹        

Bonnet Hinge Assy Rh 130.00₹        129.00₹        

Door Grab Handle Rh 477.00₹        476.00₹        

Door Striker Assly Rh 108.00₹        107.00₹        

Window Mechanism Lh 683.00₹        682.00₹        

Escutcheon(interior Rear Door) 30.00₹           29.00₹           

Head Lamp Mtg. Panel Lh 1,684.00₹     1,683.00₹     

Head Lamp Mtg. Panel Rh 1,684.00₹     1,683.00₹     

Head Lamp Mtg Panel Reinf Lh 715.00₹        714.00₹        

Fender Assly Lh 2,945.00₹     2,944.00₹     

Assly Fender Support Lh 4,571.00₹     4,570.00₹     

Assly Fender Support Rh 4,755.00₹     4,754.00₹     

Assly Front C/m 1,792.00₹     1,791.00₹     

Front Bumper White (inj. Moulded) 8,062.00₹     8,061.00₹     

Bonnet Opening Cable 178.00₹        177.00₹        

Windscreen Panel Subassly 6,443.00₹     6,442.00₹     

Assly Front Column (a) Lh 8,430.00₹     8,429.00₹     



Assly Corner Column Front Rh 6,295.00₹     6,294.00₹     

A Post Cover Top Rh 193.00₹        192.00₹        

Window Rail/crank Wind 54.00₹           53.00₹           

Stopper Rubbeer 2.50₹             1.50₹             

Assly Rear Door Panel Lh (w/o Hinges) 8,941.00₹     8,940.00₹     

Assly Rear Door Shell Rh 13,203.00₹   13,202.00₹   

Rear Door Glass (float Quality) E M 498.00₹        497.00₹        

Rubber Profile (rear Door Glass) 569.00₹        568.00₹        

Latch Upper (o) 24.00₹           23.00₹           

Striker Bottom (u) 24.00₹           23.00₹           

Insulation 2,873.00₹     2,872.00₹     

Rear Door Shell Rh Dv 10,474.00₹   10,473.00₹   

Support 16.00₹           15.00₹           

Base/rod Lock 17.00₹           16.00₹           

Rear Door Shell Lh Dv 10,872.00₹   10,871.00₹   

Foot Step Assly. Lh 1,479.00₹     1,478.00₹     

Special Bolt (for Foot Step) 18.00₹           17.00₹           

Bracket Lh (ext. Rear View Mirror) 155.00₹        154.00₹        

Bracket Rh (ext. Rear View Mirror) 143.00₹        142.00₹        

Name Plate Force 210.00₹        209.00₹        

Rear View Mirror Assly Rh (ext.) Emark 627.00₹        626.00₹        

Tempo Traveller Name Plate Rear 37.00₹           36.00₹           

Air Duct Assembly Rh 295.00₹        294.00₹        

Air Duct Assembly Lh 296.00₹        295.00₹        

Hose 49.00₹           48.00₹           

Nozzle 30.00₹           29.00₹           

Grid 27.00₹           26.00₹           

Nozzle 6.00₹             5.00₹             

Collapsible Co. Dr Seat Assy 5,652.00₹     5,651.00₹     

Guide Rail Lh 85.00₹           84.00₹           

Guide Rail Rh 85.00₹           84.00₹           

S/a. Cover Plate 751.00₹        750.00₹        

Fender Support Bottom Lh 180.00₹        179.00₹        

Fender Support Bottom Rh 152.00₹        151.00₹        

Side Support Bracket Assy Lh 178.00₹        177.00₹        

Side Support Bracket Assy Rh 178.00₹        177.00₹        

Cap   Toe Hook 145.00₹        144.00₹        

Cap Rh   Front Bumper 21.00₹           20.00₹           

Mesh   Front Grill 236.00₹        235.00₹        

Engine Lamp With Switch 121.00₹        120.00₹        

Stay Rod For Bonnet 56.00₹           55.00₹           

A Post Cover 3350 Wb 299.00₹        298.00₹        

Assly Cab Door Frame Lh 11,632.00₹   11,631.00₹   

Assly Cab Door Frame Rh 11,623.00₹   11,622.00₹   

Sticker Graphic Set T1 (3050) 2,695.00₹     2,694.00₹     

Sticker Graphic Set T1 (3700) 2,695.00₹     2,694.00₹     

External Rear View Mirror Rh 1,488.00₹     1,487.00₹     



Head Lamp Mtg. Panel Reinf. Rh 715.00₹        714.00₹        

Name Plate Traveller 137.00₹        136.00₹        

Front Grill (inj.moulded) W/o Paint 662.00₹        661.00₹        

Assly. Hinge Rear Door (passanger Van) 639.00₹        638.00₹        

Bonnet Latch Assy 268.00₹        267.00₹        

Rear View Mirror   Inside 481.00₹        480.00₹        

Vehicle Speed Sensor 1,663.00₹     1,662.00₹     

Vehicle Speed Sensor (bv) 1,397.00₹     1,396.00₹     

Camshaft Position Sensor(bosch) 983.00₹        982.00₹        

Turbo Modulator 2,249.00₹     2,248.00₹     

Acc.pedal Module (td2000 Crdi) Bsiv 2,307.00₹     2,306.00₹     

Rpm Sensor(bosch) Td2200 Iv 1,115.00₹     1,114.00₹     

Accelerator Pedal Module Bs Iii 2,146.00₹     2,145.00₹     

Level Sensor 2,714.00₹     2,713.00₹     

Wheel Speed Sensor Rear T2 839.00₹        838.00₹        

Hfm Sensor Td 2000 4,414.00₹     4,413.00₹     

Sensor For Fuel Filter 728.00₹        727.00₹        

Temp Sensor (td2000) Bsiv   Boost Pr. Sensor 1,352.00₹     1,351.00₹     

Position Sensor Of Crankshaft 1,682.00₹     1,681.00₹     

Camshaft Position Sensor 1,498.00₹     1,497.00₹     

Pressure Transducer (modulator)td2200 5,074.00₹     5,073.00₹     

Wheel Speed Sensor Front (4x2)abs 839.00₹        838.00₹        

Hose (tc End) 495.00₹        494.00₹        

Hose (manifold Side) 573.00₹        572.00₹        

Hose (intercooler End) 1,117.00₹     1,116.00₹     

Hose (manifold End) 767.00₹        766.00₹        

Hose (intercooler End) 346.00₹        345.00₹        

Radiator Top Hose (al Radiator) 297.00₹        296.00₹        

Fuel Tank Hose. ( Neck End) 470.00₹        469.00₹        

Radiator Hose   Top 249.00₹        248.00₹        

Radiator Bottom Hose 466.00₹        465.00₹        

Hose  Metal Pipe To Hfm Sensor 1,571.00₹     1,570.00₹     

Hose (hfm To Metallic Pipe) 265.00₹        264.00₹        

Hose Air Cleaner Assly   Bs 4 143.00₹        142.00₹        

Hose (hfm To Metal Pipe) T1 2650 Crdi 296.00₹        295.00₹        

Hose(pipe To Intake Manifold) Bsiv 832.00₹        831.00₹        

Hose Rad.bottom To Metal Pipe (old Face) 181.00₹        180.00₹        

Hose (intercooler Inlet) T1 2650 Crdi 2,207.00₹     2,206.00₹     

Hose  rh Grl (turbo Outlet To Met. Pipe) 1,141.00₹     1,140.00₹     

Fuel Tank Hose (tank End) 603.00₹        602.00₹        

Hose  rh Grl (met. Pipe To Intercooler ) 1,695.00₹     1,694.00₹     

Rubber Hose 86.00₹           85.00₹           

Radiator Top Hose 263.00₹        262.00₹        

Intercooler Pipe (tc End) 643.00₹        642.00₹        

Hose (intercooler To Metal Pipe) 179.00₹        178.00₹        

Hose (turbocharger To Al.casting) 1,018.00₹     1,017.00₹     

Hose  lh Grl ( Met, Pipe To Intake Mani) 484.00₹        483.00₹        



Radiator Hose Bottom lower (fm2.6cr) 137.00₹        136.00₹        

Hose exp.tank To Metal Pipe(fm2.6cr) 95.00₹           94.00₹           

Hose  lh Grl ( Intercooler To Met,pipe) 574.00₹        573.00₹        

Int.hose(met.pipe intercooler)(fm2.6cr) 1,615.00₹     1,614.00₹     

Int.hose(intercooler To Bpts)(fm2.6cr) 585.00₹        584.00₹        

Int.hose(bpts intake Elbow)(fm2.6cr) 865.00₹        864.00₹        

Radiator Hose Bottom Aluminium Radiator 243.00₹        242.00₹        

Radiator Hose Top Aluminium Radiator 251.00₹        250.00₹        

Hose Reducer Digree(5016669)fm2.6cr 1,721.00₹     1,720.00₹     

Hose ( Hfm Sen To Inlet Pipe Assy Bs iii 300.00₹        299.00₹        

Hose For Oil Seperator Outlet Grl 80.00₹           79.00₹           

Hose Surge Tank To Metal Pipe 105.00₹        104.00₹        

Hose ( Pipe To Intercooler Inlet) 976.00₹        975.00₹        

Radiator Hose   Bottom 424.00₹        423.00₹        

Hose Pipe 42 X 51 X 400 40.00₹           39.00₹           

Air Cleaner Hose (air Cleaner End) 402.00₹        401.00₹        

Air Cleaner Hose Manifold End 354.00₹        353.00₹        

Hose Metal Pipe To Tc End 171.00₹        170.00₹        

Hose ( Intercooler   Metal Pipe) Td 2000 Crdi 662.00₹        661.00₹        

Hose ( Intake Elbow) 573.00₹        572.00₹        

Hose Rh ( Metallic Pipe To Indiacator) 1,273.00₹     1,272.00₹     

Radiator Bottom Hose Upper  td 2000 135.00₹        134.00₹        

Radiator Hose Bottom   Td 2000 191.00₹        190.00₹        

Hose  turbo In 296.00₹        295.00₹        

Hose Rh ( Turbo To Metal Pipe ) Trax 2000 Cr 757.00₹        756.00₹        

Hose (metal Pipe To Intercooler Out) 518.00₹        517.00₹        

Hose (turbo Inlet) T1 2650 Crdi 159.00₹        158.00₹        

Hose Bottom (air Cleaner To Metal Pipe) 178.00₹        177.00₹        

Hose Top met. Pipe To Met. Pipe On Fender 216.00₹        215.00₹        

Intercooler Pipe (manifold End) 360.00₹        359.00₹        

Hose Expansion Tank To Metal Pipe 66.00₹           65.00₹           

Hose metal Pipe To Thermostat 58.00₹           57.00₹           

Air Cleaner Hose 112.00₹        111.00₹        

Turbo Pipe M/c 378.00₹        377.00₹        

Compressor Mtg. Bkt. Front 1,168.00₹     1,167.00₹     

Compressor Mtg.bkt. Rear 1,028.00₹     1,027.00₹     

Compressor (1pk) 21,976.00₹   21,975.00₹   

Blower Motor Assly Lh 3,469.00₹     3,468.00₹     

Blower Motor Assly Rh 3,702.00₹     3,701.00₹     

Cooling Unit Assly 20,027.00₹   20,026.00₹   

Receiver Drier 3,702.00₹     3,701.00₹     

Switch Assly. Cooler Control 529.00₹        528.00₹        

Grill Assly. Lh 646.00₹        645.00₹        

Control Panel Base Plate 1,068.00₹     1,067.00₹     

Grill Assly. Rh 1,327.00₹     1,326.00₹     

Grill  Recirculation 1,068.00₹     1,067.00₹     

Conensor Fan 15,951.00₹   15,950.00₹   



Hose Suction Assly 4,632.00₹     4,631.00₹     

Graphics Set T1 3350 Wb 5,200.00₹     5,199.00₹     

Sticker Graphic Set (3700wb /4020wb T1) 2,250.00₹     2,249.00₹     

Graphics Set T1 3350 Wb 3,900.00₹     3,899.00₹     

Graphics Set T1 3700 Wb 3,540.00₹     3,539.00₹     

Sticker Graphic Set 3,465.00₹     3,464.00₹     

Graphics Set T1 3350 Wb 5,500.00₹     5,499.00₹     

Graphics Set For Trax 2,000.00₹     1,999.00₹     

Crv 16 Graphics Set 4,360.00₹     4,359.00₹     

Graphics Set T1 3700 Wb 5,500.00₹     5,499.00₹     

Sticker Graphic Set Cr v16 T1 3350 Upgd 3,899.00₹     3,898.00₹     

Sticker Abs 27.00₹           26.00₹           

Sticker Graphic Set T1 (3700) 2,695.00₹     2,694.00₹     

Sticker Graphic Set Lh+rh(3700 Wb T1) 2,219.00₹     2,218.00₹     

Tappet Cover Gasket 186.00₹        185.00₹        

Gasket For Chain Tensioner   New 7.00₹             6.00₹             

Gasket For Bearing Housing 12.00₹           11.00₹           

Gasket (big) (for Exhaust) Td3250 Crdi T2 81.00₹           80.00₹           

Cylinder Head Gasket 798.00₹        797.00₹        

Gasket (intake Manifold   Rear) 57.00₹           56.00₹           

Gasket (intake Front) 49.00₹           48.00₹           

Gasket Exhaust Elbow Ox45/35 27.00₹           26.00₹           

Gasket (intake Manifold   Middle) 75.00₹           74.00₹           

Gasket  Thermostat Hsg(adhsv .impregntd 24.00₹           23.00₹           

Gasket For Ve Pump 25.00₹           24.00₹           

Gasket  exhaust Manifold 25.00₹           24.00₹           

Gasket Water Pump (ashesive Impregnated 12.00₹           11.00₹           

Gasket (cylinder Head Cover) 285.00₹        284.00₹        

Exhaust Gasket 171.00₹        170.00₹        

Gasket Tappet Cover Td2000cr 317.00₹        316.00₹        

Gasket For Timer Cover 72.00₹           71.00₹           

Oil Sump Gasket 167.00₹        166.00₹        

Tappet Cover Gasket Bs iii Ed Engine 635.00₹        634.00₹        

Cylinder Head Gasket (td 3250fti ) Crdi 1,419.00₹     1,418.00₹     

Gasket For Axle Shaft 36.00₹           35.00₹           

Gasket Cylinder Head Cover Td3250crdi 651.00₹        650.00₹        

Gasket 36.00₹           35.00₹           

Gasket For Axle Shaft 25.00₹           24.00₹           

Gasket 566.00₹        565.00₹        

Gasket For Oil Sump 1,411.00₹     1,410.00₹     

Gasket For Intake Manifold Upper  Td2200 24.00₹           23.00₹           

Gasket(betn Bypass Valve& Adopter Plate 49.00₹           48.00₹           

Gasket For Close Couple Cat 65.00₹           64.00₹           

Gasket (spinon Filter Adaptor) 11.00₹           10.00₹           

Gasket (hfm Sensor) 19.00₹           18.00₹           

Gasket (close Couple & Casting Elbow) 37.00₹           36.00₹           

Gasket(turbo Drain) 15.00₹           14.00₹           



Gasket (egr Valve To Egr Pipe) Bs iv 15.00₹           14.00₹           

Exhaust Pipe Gasket 61.00₹           60.00₹           

Gasket (spin  on Filter Head To Adaptor) 39.00₹           38.00₹           

Gasket Elbow Intet Manifld 28.00₹           27.00₹           

Gasket For The Thermostat Assy 4.00₹             3.00₹             

Gasket For End Cap 11.00₹           10.00₹           

Gasket (oil Filter Head To Blk) 25.00₹           24.00₹           

Gasket (turbo & Adaptor) 29.00₹           28.00₹           

Gasket (turbo Exhaust In) 17.00₹           16.00₹           

Gasket Front Exhaust Pipe Assembly 40.00₹           39.00₹           

Gasket 23.00₹           22.00₹           

Cylinder Head Gasket 1,082.00₹     1,081.00₹     

Gasket (exhaust Manifold To Tubocharger) 23.00₹           22.00₹           

Cylinder Head Gasket 9,073.00₹     9,072.00₹     

Gasket For Exhaust Pipe (cng) 55.00₹           54.00₹           

Gasket (for Exhaust) Td 3250crdi T2 42.00₹           41.00₹           

Handle Glass Regulator 77.00₹           76.00₹           

Inner Handle Rh 63.00₹           62.00₹           

Interior Handle Assembly Left 61.00₹           60.00₹           

Head Lamp Cover Lh (outer) W/o Paint 170.00₹        169.00₹        

Door Lock Rh 433.00₹        432.00₹        

Window Regulator Rail Right 135.00₹        134.00₹        

Rubber Buffer 43.00₹           42.00₹           

Window Regulator Rail Left 135.00₹        134.00₹        

Door Lock Lh 433.00₹        432.00₹        

Front Bumper (inj. Moulded) W/o Paint 2,994.00₹     2,993.00₹     

Side Blinker Lh (cat 6 Type) 278.00₹        277.00₹        

Mud Flap Front Rh 231.00₹        230.00₹        

F Monogram 190.00₹        189.00₹        

Escutcheon 15.00₹           14.00₹           

Striker For Bonnet 112.00₹        111.00₹        

Side Glass Rh. 2,546.00₹     2,545.00₹     

External Rear View Mirror Lh 1,488.00₹     1,487.00₹     

Fan ( Six Blades ) 913.00₹        912.00₹        

Side Glass Lh. 2,442.00₹     2,441.00₹     

Hinge Right 797.00₹        796.00₹        

Window Mechanism Rh 683.00₹        682.00₹        

Kit Force Letter 447.00₹        446.00₹        

Head Lamp Cover Rh (outer) W/o Paint 170.00₹        169.00₹        

Guide (front Bumper) 73.00₹           72.00₹           

Mud Flap Front Lh 231.00₹        230.00₹        

Side Cover Head Lamp Lh 542.00₹        541.00₹        

Head Lamp Assly Lh 3,561.00₹     3,560.00₹     

Door Striker Assly Lh 108.00₹        107.00₹        

Front Fog Lamp Assly 325.00₹        324.00₹        

Head Lamp Assly Rh 3,561.00₹     3,560.00₹     

Window Guide Rail 633.00₹        632.00₹        



A Post Cover Bottom Assy Lh 753.00₹        752.00₹        

Bottle Holder Rh 711.00₹        710.00₹        

Hinge Left 797.00₹        796.00₹        

Side Blinker Rh (cat 6 Type) 278.00₹        277.00₹        

Side Retro Reflector 184.00₹        183.00₹        

Head Lamp Assy Lh. (t1 Crv16 Facia) 3,543.00₹     3,542.00₹     

A Post Cover Bottom Assy Rh 753.00₹        752.00₹        

Door Grab Handle Lh 477.00₹        476.00₹        

Bonnet Panel Sub Assly 7,104.00₹     7,103.00₹     

Laminated Windscreen Glass (t1) E Mrk 5,825.00₹     5,824.00₹     

Head Lamp Assy Rh (t1 Crv16 Facia) 3,543.00₹     3,542.00₹     

Mud Deflector Lh 1,186.00₹     1,185.00₹     

Front Cross Member Assy 4,189.00₹     4,188.00₹     

Side Cover Head Lamp Rh 542.00₹        541.00₹        

Fender Assly Rh 2,945.00₹     2,944.00₹     

Mud Deflector Rh 1,186.00₹     1,185.00₹     

Mesh   Front Bumper 126.00₹        125.00₹        

A Post Cover Top Lh 193.00₹        192.00₹        

Reservoir With Bkt Assly 629.00₹        628.00₹        

Air Cleaner Assembly (td 2650 F Iieg Engine) 1,497.00₹     1,496.00₹     

Front Grill White 2,902.00₹     2,901.00₹     

Bonnet Sealing Mtg.panel 1,082.00₹     1,081.00₹     

Front Panel Assy (ve) 48,832.00₹   48,831.00₹   

Covering Panel For Cab Door Rh. (t1) 759.00₹        758.00₹        

Covering Panel For Cab Door Lh (t1) 847.00₹        846.00₹        

Door Check Window Run To Front Door 204.00₹        203.00₹        

Inter Cooler (di Euro ii) 6,665.00₹     6,664.00₹     

Assly Cab Door Outer Lh 710.00₹        709.00₹        

Assly Cab Door Outer Rh 626.00₹        625.00₹        

Rubber Profile Wind Screen 1,539.00₹     1,538.00₹     

Assly. Grill Mtg. Panel 1,797.00₹     1,796.00₹     

Support Upper Front Rh 1,090.00₹     1,089.00₹     

Bonnet Insulation 492.00₹        491.00₹        

Cogged Fan Belt 995 Mm Long 356.00₹        355.00₹        

Bonnet Hinge Assy Lh 130.00₹        129.00₹        

Bonnet Hinge Assy Rh 130.00₹        129.00₹        

Door Grab Handle Rh 477.00₹        476.00₹        

Al. Radiator T1 Tcic 7,700.00₹     7,699.00₹     

Window Mechanism Lh 683.00₹        682.00₹        

Head Lamp Mtg. Panel Lh 1,684.00₹     1,683.00₹     

Head Lamp Mtg. Panel Rh 1,684.00₹     1,683.00₹     

Head Lamp Mtg Panel Reinf Lh 715.00₹        714.00₹        

Fender Assly Lh 2,945.00₹     2,944.00₹     

Assly Fender Support Lh 4,571.00₹     4,570.00₹     

Assly Fender Support Rh 4,755.00₹     4,754.00₹     

Assly Front C/m 1,792.00₹     1,791.00₹     

Front Bumper White (inj. Moulded) 8,062.00₹     8,061.00₹     



Bonnet Opening Cable 178.00₹        177.00₹        

Windscreen Panel Subassly 6,443.00₹     6,442.00₹     

Assly Front Column (a) Lh 8,430.00₹     8,429.00₹     

Assly Corner Column Front Rh 6,295.00₹     6,294.00₹     

A Post Cover Top Rh 193.00₹        192.00₹        

Roof Lamp Assembly (with Bulb) 200.00₹        199.00₹        

Door Striker Assly Rh 108.00₹        107.00₹        

Chassis Extension Front Assy 452.00₹        451.00₹        

Door Handle Set 2,333.00₹     2,332.00₹     

Asy Cab Door Lh 21,197.00₹   21,196.00₹   

Asy Cab Door Rh 21,235.00₹   21,234.00₹   

Side Blinker 93.00₹           92.00₹           

Head Lamp Assy Lh 1,892.00₹     1,891.00₹     

Head Lamp Assly.rh 1,886.00₹     1,885.00₹     

Reinf.for Head Lamp Mtg.panel Rh 484.00₹        483.00₹        

Radiator Cowl 646.00₹        645.00₹        

S/a. Cover Plate 751.00₹        750.00₹        

Mesh   Front Grill 236.00₹        235.00₹        

Condensation Tank Assly 141.00₹        140.00₹        

External Rear View Mirror Rh 1,488.00₹     1,487.00₹     

Head Lamp Mtg. Panel Reinf. Rh 715.00₹        714.00₹        

Front Grill (inj.moulded) W/o Paint 662.00₹        661.00₹        

Bonnet Latch Assy 268.00₹        267.00₹        

Single Seat (economy) Assy Top2020 Lh 5,814.00₹     5,813.00₹     

Two Seater (economy Seat Rear Lh Top2020 9,987.00₹     9,986.00₹     

Dr. Seat Assy. Complete 12,316.00₹   12,315.00₹   

Collapsible Co. Dr Seat Assy 5,652.00₹     5,651.00₹     

Assy Single Scb Seater Seat Lh 4,125.00₹     4,124.00₹     

Assy Two Scb Seater Seat Rh T1 5,929.00₹     5,928.00₹     

Driver Seat (lux) Assy Complete 12,875.00₹   12,874.00₹   

Single Seat (lux) Reg Assly.t1 9,959.00₹     9,958.00₹     

Two Seater (lux) Reg Assly Front Rh 19,210.00₹   19,209.00₹   

Asly.rubber Frame Side Window T2 Scb Tn 646.00₹        645.00₹        

Assy Rubber Frame Side Window T2 Scb Tn 1,032.00₹     1,031.00₹     

Sliding Window Asy (double Sld)lh T2 Scb 2,951.00₹     2,950.00₹     

Sliding Window Asy (double Sld)rh T2 Scb 2,951.00₹     2,950.00₹     

Sliding Window Asy (double Sld)lh T2 Scb 2,578.00₹     2,577.00₹     

Sliding Window Asy (double Sld)rh T2 Scb 2,578.00₹     2,577.00₹     

Glass Side Panel Grey Tint Stuck 1847pnl 4,804.00₹     4,803.00₹     

Glass Side Panel Grey Tin Stuck(lg=1367) 3,622.00₹     3,621.00₹     

Stuck Glass Tinted Gray Rear Door Lh 1,775.00₹     1,774.00₹     

Stuck Glass Tinted Gray Rear Door Rh 1,962.00₹     1,961.00₹     

Pop Up Knob 11.00₹           10.00₹           

Oil Seal For Valve Stem (fenner) 89.00₹           88.00₹           

Clamp 4.00₹             3.00₹             

Bush 84.00₹           83.00₹           

Clamping Sleeve   6 X 45 6.00₹             5.00₹             



Grooved Pin Cover To Bearing Bracket 6.00₹             5.00₹             

Cleveloc Nut M10 9.00₹             8.00₹             

Rubber Bush For Tower Assy 6.00₹             5.00₹             

Lock Shifting Rod To Shift Lever 6.00₹             5.00₹             

Oil Seal 62.00₹           61.00₹           

Handle Glass Regulator 77.00₹           76.00₹           

Spring Nut (cabin Insulations) 6.00₹             5.00₹             

Bushing Shift Lever Bearing 10.00₹           9.00₹             

Sliding Block Shift Lever Bearing 18.00₹           17.00₹           

Rubber Section For Wheel Arch 145.00₹        144.00₹        

Drain Pipe For Oil Separator 94.00₹           93.00₹           

Socket 21.00₹           20.00₹           

Inner Handle Rh 63.00₹           62.00₹           

Bearing Shift Lever Bearing 47.00₹           46.00₹           

Wheel Bolt 38.00₹           37.00₹           

Oil Seal 84.00₹           83.00₹           

Wheel Bolt  ( (12) 44.00₹           43.00₹           

Locking Washer 16.00₹           15.00₹           

Inlet Valve 219.00₹        218.00₹        

Interior Handle Assembly Left 61.00₹           60.00₹           

Sticker For Force 22.00₹           21.00₹           

Bundy Tube (three Way To Rh Wheel Cylinder   365 Lg) 84.00₹           83.00₹           

Pull Handle 16.00₹           15.00₹           

Follower 92.00₹           91.00₹           

Tube 14.00₹           13.00₹           

Cleveloc Nut M12 X 1.5 11.00₹           10.00₹           

Knob For Spring Holder 8.00₹             7.00₹             

Oil Seal 58.00₹           57.00₹           

End Cap Foot Step Rh 35.00₹           34.00₹           

Rubber Bush For Link 16.00₹           15.00₹           

Bearing For Bow 8.00₹             7.00₹             

Follower 8.00₹             7.00₹             

Acc Cable 176.00₹        175.00₹        

Piston Circlip 9.00₹             8.00₹             

Bellow Cab Sealing 214.00₹        213.00₹        

Bearing Bushes 399.00₹        398.00₹        

Ball For Acceletor Pedal 9.00₹             8.00₹             

Holder 10.00₹           9.00₹             

Head Lamp Cover Lh (outer) W/o Paint 170.00₹        169.00₹        

Bearing Pin For Crank Lever 30.00₹           29.00₹           

Sliding Rail Assembly With Bush 217.00₹        216.00₹        

Elbow For Breather 90.00₹           89.00₹           

Intermediate Hose 160 Mm 10.00₹           9.00₹             

Bearing Pin 20.00₹           19.00₹           

New Type Door Handle Rh 332.00₹        331.00₹        

Rubber Frame 35.00₹           34.00₹           

Tappet Cover Gasket Bs iii Ed Engine 196.00₹        195.00₹        



Two Way Connector 47.00₹           46.00₹           

Dirt Trap M3 & M4 108.00₹        107.00₹        

Sliding Rail For Chain (lower) 127.00₹        126.00₹        

Slide Rail Td3250 Fti (crdi ) 172.00₹        171.00₹        

Door Stopper Belt 78.00₹           77.00₹           

End Hose 300 Mm 20.00₹           19.00₹           

Accelerator Cable 81.00₹           80.00₹           

Latch Assly With Link Rear Door 336.00₹        335.00₹        

Fuel Filter Kit 534.00₹        533.00₹        

Bearing Housing 12.00₹           11.00₹           

Name Plate Trax (new) 100.00₹        99.00₹           

Assembly Grid Rh 80.00₹           79.00₹           

Door Lock Rh 433.00₹        432.00₹        

Door Retaining Strap 145.00₹        144.00₹        

Bolt M12 X 1.5 X 100 43.00₹           42.00₹           

Acceleration Abutment Bracket 27.00₹           26.00₹           

Window Regulator Rail Right 135.00₹        134.00₹        

Filter Element 456.00₹        455.00₹        

Tappet Cover Gasket 186.00₹        185.00₹        

Hex Nut M8x1.25 2.50₹             1.50₹             

Woodruff Key ( 4 X 6.5 ) 17.00₹           16.00₹           

Washer 10.00₹           9.00₹             

Wear Plate 12.00₹           11.00₹           

Securing Clip M3 & M4 2.50₹             1.50₹             

Bearing Bush For Crank Lever 8.00₹             7.00₹             

Lever Assy.(for Accelerator) 67.00₹           66.00₹           

Hinge Pin 20.00₹           19.00₹           

Washer 8.00₹             7.00₹             

Cup Washer Upper For Link 11.00₹           10.00₹           

Bellow ( For Steering Column trax Lhd) 43.00₹           42.00₹           

Slide For Door Lock 10.00₹           9.00₹             

Hose (tc End) 495.00₹        494.00₹        

Latch Assly With Link Lh ( Cab Door) 335.00₹        334.00₹        

Slave Cylinder With Push Rod 1,245.00₹     1,244.00₹     

Cap Rh   Front Bumper W/o Paint 7.00₹             6.00₹             

Filter Element With O Rings 155.00₹        154.00₹        

Rubber Grommet Shift Lever Bottom 16.00₹           15.00₹           

Dowel Pin 5h8 X 24 Din 7 6.00₹             5.00₹             

Cap   Rear Bumper Corner Side W/o Paint 4.00₹             3.00₹             

Reflex Reflector 74.00₹           73.00₹           

Window Regulator Rail Left 135.00₹        134.00₹        

Synchroniser Ring 2nd & 3rd 470.00₹        469.00₹        

Tail Lamp Rh 383.00₹        382.00₹        

End Cap Foot Step Lh 35.00₹           34.00₹           

Breather Pipe Assly 90.00₹           89.00₹           

Sliding Rail For Chain (upper) 127.00₹        126.00₹        

Special Flange Bolt 20.00₹           19.00₹           



Bearing 19.00₹           18.00₹           

Spring For Pedal Lever 10.00₹           9.00₹             

Door Lock Lh 433.00₹        432.00₹        

Hinge Assy With Stopper (270) 1,579.00₹     1,578.00₹     

Silent Block Bush 96.00₹           95.00₹           

Exhaust Valve (21 4n) 334.00₹        333.00₹        

Bonnet Latch Assly Upper 339.00₹        338.00₹        

Assly. Locking Mechanism/rear Wall Door 735.00₹        734.00₹        

Door Striker 61.00₹           60.00₹           

Cap rear Bumper Corner Rear Lh W/o Paint 4.00₹             3.00₹             

Foot Pedal Cover M3 & M4 25.00₹           24.00₹           

Rear Shock Absorber   Viton Seal 1,197.00₹     1,196.00₹     

Front Blinker Lh 438.00₹        437.00₹        

U Bolt (anti Roll Bar Front) 49.00₹           48.00₹           

Piston 1,619.00₹     1,618.00₹     

Covering Lh (side Panel Inner Rear) 304.00₹        303.00₹        

Oil Seal 67.00₹           66.00₹           

Front Blinker Rh 438.00₹        437.00₹        

Hinge Assy W/o Stopper (270) 1,563.00₹     1,562.00₹     

Rear Door Lock (traveller) 432.00₹        431.00₹        

Air Filter Element 645.00₹        644.00₹        

Speedo Cable 442.00₹        441.00₹        

Covering Rh 140.00₹        139.00₹        

Covering Rh (side Panel Inner Rear) 303.00₹        302.00₹        

Hex Head Bolt M12 X 1.5 X 105 45.00₹           44.00₹           

Distance Ring 104.00₹        103.00₹        

Filter Cartridge With O Ring 308.00₹        307.00₹        

Stickers Toofan 1,447.00₹     1,446.00₹     

Oil Seal 254.00₹        253.00₹        

P.s. Pump Support 489.00₹        488.00₹        

Rubber Ring 5.00₹             4.00₹             

Clamp For Stabilizer 43.00₹           42.00₹           

Roof Lamp Assembly (with Bulb) 180.00₹        179.00₹        

Rubber Seal For Thermostat 12.00₹           11.00₹           

Hub Bolt 39.00₹           38.00₹           

Cup Washer Lower For Link 8.00₹             7.00₹             

Link 13.00₹           12.00₹           

Synchroniser Ring 3rd & 4th Speed 384.00₹        383.00₹        

Gasket (big) (for Exhaust) Td3250 Crdi T2 81.00₹           80.00₹           

Door Holder Rear Door 57.00₹           56.00₹           

Grab Handle Rear Door 35.00₹           34.00₹           

Fan Belt (av13) 335.00₹        334.00₹        

Cylinder Head Gasket 798.00₹        797.00₹        

Warning Lamp Assly(set) Rh (pac 346) 143.00₹        142.00₹        

Front Bumper (inj. Moulded) W/o Paint 2,994.00₹     2,993.00₹     

Front Shock Absorber   Viton Seal 1,164.00₹     1,163.00₹     

Covering Lh Inner Panel Rear Wall 140.00₹        139.00₹        



Side Blinker Lh (cat 6 Type) 278.00₹        277.00₹        

Oil Filter Height  7.4 Cm 107.00₹        106.00₹        

Wheel Bolt 36.00₹           35.00₹           

Ball 6.50 Mm 1.00₹             -₹               

Mud Flap Front Rh 231.00₹        230.00₹        

Mechanical Brake Light Switch M3 & M4 92.00₹           91.00₹           

F Monogram 190.00₹        189.00₹        

Connector For Accelerator Cabel (om616) 39.00₹           38.00₹           

Ball Joint (track Rod) Lh   Rane 254.00₹        253.00₹        

Rubber Silent Block 113.00₹        112.00₹        

Cyl. Head Bolt M 12 X 104 46.00₹           45.00₹           

Cap rear Bumper Corner Rear Rh W/o Paint 4.00₹             3.00₹             

Rubber Buffer For Bonnet 10.00₹           9.00₹             

Lock Intermediate Lever 10.00₹           9.00₹             

End Cover 21.00₹           20.00₹           

Shock Absorber Bush With Sleeve   Lower 100.00₹        99.00₹           

Weather Strips Front Inner Rh Cab 98.00₹           97.00₹           

Pulley   Water Pump (sheet Metal) Td2000 236.00₹        235.00₹        

Protection Cover Lh ( Rubber Beading) 79.00₹           78.00₹           

Drag Link Assembly (greaserless Talbros) 1,060.00₹     1,059.00₹     

Vehicle Speed Sensor 1,663.00₹     1,662.00₹     

Wiper Blade 220.00₹        219.00₹        

Accelerator Pedal Assly. T1 133.00₹        132.00₹        

Oil Seal 134.00₹        133.00₹        

Oil Pressure Switch 117.00₹        116.00₹        

Bleeder Valve 28.00₹           27.00₹           

Shock Absorber Bush With Sleeve   Upper 52.00₹           51.00₹           

Themostat Valve 740 C 291.00₹        290.00₹        

Piston Ring Set (4cyl) 3,063.00₹     3,062.00₹     

King Pin Repair Kit Std (t1) 2,278.00₹     2,277.00₹     

Speedometer Cable With Nylon Sleeve(trax 452.00₹        451.00₹        

Wheel Arch Rh 328.00₹        327.00₹        

Vehicle Speed Sensor (bv) 1,397.00₹     1,396.00₹     

Brake Master Cylinder Assly  Kbx 3,200.00₹     3,199.00₹     

Assly Sunshield Set ( Trax Metal Top ) 442.00₹        441.00₹        

Gasket (intake Front) 49.00₹           48.00₹           

Gasket (intake Manifold   Rear) 57.00₹           56.00₹           

Piston Pin For Om 616 T C Engine 178.00₹        177.00₹        

Track Rod Assly. (talbros greaserless) 1,211.00₹     1,210.00₹     

Cover Rear (cab Door) Rh 138.00₹        137.00₹        

Anti Roll Bar Rubber Bush Front 63.00₹           62.00₹           

Drain Plug Assembly 60.00₹           59.00₹           

Side Blinker Front (baghira) Rh M4 30.00₹           29.00₹           

Escutcheon 15.00₹           14.00₹           

Cover Front (cab Door) Lh 48.00₹           47.00₹           

Wheel Bolt For T1 Dw (t2) 33.00₹           32.00₹           

Cl. Master Cylinder Assembly 987.00₹        986.00₹        



Clutch Master Cylinder For T 1 (kbx) 1,075.00₹     1,074.00₹     

Side Corner 219.00₹        218.00₹        

Wiper Arm Assy T1 Upgd 344.00₹        343.00₹        

Anti Roll Spring Front 3,006.00₹     3,005.00₹     

Assembly Rod 284.00₹        283.00₹        

Air Cleaner Assly 2,289.00₹     2,288.00₹     

Oil Pressure Switch 110.00₹        109.00₹        

Collar Bush (finished) 29.00₹           28.00₹           

C.b Kit 952.00₹        951.00₹        

Lock Nut 81.00₹           80.00₹           

Air Pressure Filler Flexible Extension With Holder 233.00₹        232.00₹        

Stud For Tappet Cover Mounting 30.00₹           29.00₹           

Reverse Light Switch 110.00₹        109.00₹        

Bolt For Control Arm 75.00₹           74.00₹           

Remote Control Assly Lh 109.00₹        108.00₹        

Remote Control Assly Rh 109.00₹        108.00₹        

Side Blinker Lh 30.00₹           29.00₹           

Valve Guide (intake & Exhaust) 35.00₹           34.00₹           

Bonnet Opening Cable 185.00₹        184.00₹        

Nut For Flange 100.00₹        99.00₹           

Weather Strips Front Outer Rh Cab 95.00₹           94.00₹           

Weather Strips Front Outer Lh Cab 95.00₹           94.00₹           

Bearing Bush (strg.system) 288.00₹        287.00₹        

Rear Mudgard 918.00₹        917.00₹        

Shoe For Chain Tensioner 297.00₹        296.00₹        

Striker For Bonnet 112.00₹        111.00₹        

Sensor Unit 169.00₹        168.00₹        

Guide Window Run (excel) Lh 86.00₹           85.00₹           

Force Name Plate (new) 210.00₹        209.00₹        

Lock Kit For T1 2,754.00₹     2,753.00₹     

Hose (intercooler End) 346.00₹        345.00₹        

Spherical Washer 10.00₹           9.00₹             

Stud M10 X130 29.00₹           28.00₹           

Wheel Cap (rear Axle) 25.00₹           24.00₹           

Latch Assly With Link Rh ( Cab Door) 335.00₹        334.00₹        

Bushing King pin 277.00₹        276.00₹        

Speedometer Cable O/dr 421.00₹        420.00₹        

Filter Element For Main Filter 803.00₹        802.00₹        

Clamp For Arb T1 Fm2.6cr Bsvi 73.00₹           72.00₹           

Gasket (intake Manifold   Middle) 75.00₹           74.00₹           

King Pin T1 Modified Finished 289.00₹        288.00₹        

Side Glass Rh. 2,546.00₹     2,545.00₹     

Gasket Exhaust Elbow Ox45/35 27.00₹           26.00₹           

Gasket  Thermostat Hsg(adhsv .impregntd 24.00₹           23.00₹           

Roof Lamp Switch 167.00₹        166.00₹        

Rubber Bush 11.00₹           10.00₹           

Gasket For Ve Pump 25.00₹           24.00₹           



Vacuum Hose (modulater To Egr)t1 2650 149.00₹        148.00₹        

Engine Mounting Rubber   Rear 580.00₹        579.00₹        

Cylinder Rolling Bearing Without Collar 691.00₹        690.00₹        

Clamp For Anti Roll Bar T2 43.00₹           42.00₹           

Spherical Piece Shift Lever 10.00₹           9.00₹             

Rubber Buffer 151.00₹        150.00₹        

Gasket 100.00₹        99.00₹           

Oil Seal 61.00₹           60.00₹           

Foot Pedal Cover 25.00₹           24.00₹           

U Bolt (front Anti Roll Bar) T1 Bsvi 118.00₹        117.00₹        

Mounting Bracket 17.00₹           16.00₹           

Hhs M8 X 60 9.00₹             8.00₹             

Nut 21.00₹           20.00₹           

External Rear View Mirror Lh 1,488.00₹     1,487.00₹     

Gasket (cylinder Head Cover) 150pfp 388.00₹        387.00₹        

Oil Filling Cap 350.00₹        349.00₹        

Channel Assy Rear With Flock Channel Lh 127.00₹        126.00₹        

Gasket  exhaust Manifold 25.00₹           24.00₹           

Channel Assy Rear With Flock Channel Rh 127.00₹        126.00₹        

Combination Switch Cruiser Gama 1,184.00₹     1,183.00₹     

Fan ( Six Blades ) 913.00₹        912.00₹        

Stickergraphicsset(cru.classic) Dualac 3,002.00₹     3,001.00₹     

Rear Bumper Corner Rh(inj Mlded)w/opaint 219.00₹        218.00₹        

Continuous Side Door Rubber Sealing Rh 467.00₹        466.00₹        

Side Glass Lh. 2,442.00₹     2,441.00₹     

Spacer Disc 10.00₹           9.00₹             

Universal Joint Assly 991.00₹        990.00₹        

Front Grill Assly 1,953.00₹     1,952.00₹     

Clutch Master Cyl.t1 Type 1,099.00₹     1,098.00₹     

Front Rubber Buffer 148.00₹        147.00₹        

Filter Element For Pre filter 709.00₹        708.00₹        

Idler Pulley Assy (plastic Type) 524.00₹        523.00₹        

Drive Pinion For Ve Pump 200.00₹        199.00₹        

Guide Rail Lh 62.00₹           61.00₹           

Gasket Water Pump (ashesive Impregnated 12.00₹           11.00₹           

Oil Pressure Valve Assembly 181.00₹        180.00₹        

Plate For Rear Door T1 95.00₹           94.00₹           

Boot Shift Lever 31.00₹           30.00₹           

Glow Plug Bosch 596.00₹        595.00₹        

Hinge Right 797.00₹        796.00₹        

Rubber Section  Wh Arch Covering Grl 103.00₹        102.00₹        

Cylinder Head Gasket   New 1,066.00₹     1,065.00₹     

Brake Booster Assly With Tmc 8,808.00₹     8,807.00₹     

Poly V Belt 5 Pk 1549 Fm2.6cr Ed 676.00₹        675.00₹        

Accelerator Abutment Bkt.assembly 162.00₹        161.00₹        

Ball Socket 18.00₹           17.00₹           

Assy Latch For Seat 22.00₹           21.00₹           



Water Pump Assy (td 3250 Fti Crdi ) 3,741.00₹     3,740.00₹     

Window Mechanism Rh 683.00₹        682.00₹        

Kit Lining Set (std) 1,278.00₹     1,277.00₹     

Clamping Nut 113.00₹        112.00₹        

Grab Handle(on Piller)(tfr) 139.00₹        138.00₹        

Pa Tube (fip To Fuel Tank) 378.00₹        377.00₹        

Conn Rod Bearing   N Lower 181.00₹        180.00₹        

Weather Strips Rear Outer Rh Side 99.00₹           98.00₹           

Guide Assly Left 118.00₹        117.00₹        

Gasket 35.00₹           34.00₹           

Gasket (cylinder Head Cover) 285.00₹        284.00₹        

Bonnet Opening Cable 240.00₹        239.00₹        

Exhaust Gasket 171.00₹        170.00₹        

U J Cross 632.00₹        631.00₹        

Kit Force Letter 447.00₹        446.00₹        

Head Lamp Assly With Position Lamp Rh 1,438.00₹     1,437.00₹     

Connecting Rod Large End Bearing Set Imp 212.00₹        211.00₹        

Turbocharger For Td2650ft i (di) Engine 15,932.00₹   15,931.00₹   

Main Bearing Lower   N 820.00₹        819.00₹        

Sealing Rubber 457.00₹        456.00₹        

Weather Strips Rear Inner Rh Side 93.00₹           92.00₹           

Door Inner Pad Rh (side Door) 384.00₹        383.00₹        

Sealing Rubber 57.00₹           56.00₹           

Crankshaft Sprocket 428.00₹        427.00₹        

Guide (front Bumper) 73.00₹           72.00₹           

Head Lamp Cover Rh (outer) W/o Paint 170.00₹        169.00₹        

Front Panel Assembly 6,151.00₹     6,150.00₹     

Ignition Cum Steering Lock 1,104.00₹     1,103.00₹     

Wiper Blade Lh 378.00₹        377.00₹        

Wheel Arch Lh 328.00₹        327.00₹        

Adjust Grid Middle 201.00₹        200.00₹        

Fog Lamp Front Switch 167.00₹        166.00₹        

Spring Seating Rubber Top 89.00₹           88.00₹           

Thermostat Valve Asly Td 2000 Trump 291.00₹        290.00₹        

Piston Ring Kit 400/450/330/orchard 1,883.00₹     1,882.00₹     

U Bolt For Front Spring 84.00₹           83.00₹           

Mud Flap Front Lh 231.00₹        230.00₹        

Hose Pipe 189.00₹        188.00₹        

Bearing Bush(intermediate Shaft Front) 469.00₹        468.00₹        

Wiper Blade Rh 402.00₹        401.00₹        

Return Spring 12.00₹           11.00₹           

Door Inner Pad Lh (side Door) 384.00₹        383.00₹        

Shock Absorber Front(grl) 1,085.00₹     1,084.00₹     

Pa Tube ( Fip To Fuel Tank) 413.00₹        412.00₹        

Clutch Plate Assy E iii 3,133.00₹     3,132.00₹     

Bush For Fuel Pump Drive ( New Type ) 232.00₹        231.00₹        

Rear Oil Seal (skf) Td2650 Crdi 451.00₹        450.00₹        



Pistion Oil Ring 308.00₹        307.00₹        

Tail Lamp Lh 383.00₹        382.00₹        

Wheel Arch Front Rh 229.00₹        228.00₹        

Assy Window Regulator Mech Lh 580.00₹        579.00₹        

Covering Lh (side Panel Inner Bottom) 276.00₹        275.00₹        

Windscreen Washer System With Out Mtg Bkt 661.00₹        660.00₹        

Cylinder Head Gasket Td2650 Reliability 1,693.00₹     1,692.00₹     

Tail Lamp Assembly Lh 1,202.00₹     1,201.00₹     

Head Lamp Assly Lh 3,561.00₹     3,560.00₹     

Gasket Tappet Cover Td2000cr 317.00₹        316.00₹        

Door Inner Pad Rh Cab Door 412.00₹        411.00₹        

Door Inner Pad Lh Cab Door 412.00₹        411.00₹        

Oil Separator Gama 393.00₹        392.00₹        

Front Fog Lamp Assly 325.00₹        324.00₹        

Gasket For Timer Cover 72.00₹           71.00₹           

Cross Bearing & Snap Ring Assembly 1,821.00₹     1,820.00₹     

Head Lamp Assly With Position Lamp Lh 1,438.00₹     1,437.00₹     

Side Panel Front Bottom Lh 313.00₹        312.00₹        

Assy Window Regulator Mech Rh 580.00₹        579.00₹        

Kit For Assly Brake Pad 1,827.00₹     1,826.00₹     

Shifting Shaft Lower Double Ball For T1 389.00₹        388.00₹        

Hinge Female 123.00₹        122.00₹        

Ac Comp.support Bkt (fm2.6 Cr Bs6 Ed)t1 22.00₹           21.00₹           

Closing Cap A34 12.00₹           11.00₹           

Oil Sump Gasket 167.00₹        166.00₹        

Rupd Mtg Bkt Assly Rh 82.00₹           81.00₹           

U Bolt (front Anti Roll Bar) T2 40.00₹           39.00₹           

Door Lock Assy Lh With Child Safety Lock 434.00₹        433.00₹        

Assy Strg Column Tube (power Strg.) 738.00₹        737.00₹        

Radiator Cap 152.00₹        151.00₹        

Mini Fuse 10 A 12.00₹           11.00₹           

Snap Ring As Required 2.47 Mm 13.00₹           12.00₹           

Piston Pin 161.00₹        160.00₹        

Shim For Clutch Slave Cylinder 15.00₹           14.00₹           

Wheel Bolt For New Rim 30.00₹           29.00₹           

Grease Nipple Bm 8x 1 Din 71412 16.00₹           15.00₹           

Spacer Sleeve 351.00₹        350.00₹        

Guide Assly Right 118.00₹        117.00₹        

Ball Joint (track Rod) Rh   Rane 254.00₹        253.00₹        

Drive Shaft Rear Lh/rh (t1 Smooth) 2,608.00₹     2,607.00₹     

Rear Door Inner Pad 373.00₹        372.00₹        

Stud (tc To Outlet Flange) Lgth 32mm 36.00₹           35.00₹           

Mechl Brake Light Switch ( Bal 400 ) 107.00₹        106.00₹        

Clutch Master Cylinder 1,127.00₹     1,126.00₹     

Link Forfront Antirollbar (f 2010) 363.00₹        362.00₹        

Main Relay 737.00₹        736.00₹        

End Cover Assly 45.00₹           44.00₹           



Closing Plug 25.00₹           24.00₹           

Thrust Washer Lower   N 224.00₹        223.00₹        

Lock For Trax Sliding Window B8547200011 103.00₹        102.00₹        

Engine Mtg.rubber 579.00₹        578.00₹        

Brake Hose Made From Imported Tube 296.00₹        295.00₹        

Thrust Washer As Reqd. 1.3 Mm 79.00₹           78.00₹           

Guide Rail Rh 62.00₹           61.00₹           

Door Inner Pad Lh (dual Ac) 432.00₹        431.00₹        

Centre Bearing Kit 1,787.00₹     1,786.00₹     

Poly V Belt 5 Pk Strech 937 Fm2.6cr Cd 623.00₹        622.00₹        

Shifting Rod 2nd & 3rd Speed 78.00₹           77.00₹           

Duplex Chain (main) 1,729.00₹     1,728.00₹     

Wheel Arch Front Lh (frp) 870.00₹        869.00₹        

Door Inner Pad Lh (side Door) Dual Ac 390.00₹        389.00₹        

Wiper Relay 118.00₹        117.00₹        

Hose (oil Drain) 163.00₹        162.00₹        

Head Lamp Assly Rh 3,561.00₹     3,560.00₹     

Outside Handle Of Rear Door Lock 421.00₹        420.00₹        

Crankshaft Pulley (sheet Metal) Alternate 807.00₹        806.00₹        

Cylinder Head Gasket Td1800f Ox35 466.00₹        465.00₹        

Wiper & Washer Controler 165.00₹        164.00₹        

Grooved Nut 162.00₹        161.00₹        

Foot Step End Cap Rh(tfr) 72.00₹           71.00₹           

Mud Flap Mtg Plate Lh 192.00₹        191.00₹        

Lube Oil Filter (spin On) 1,372.00₹     1,371.00₹     

Latch Assembly Back Door 406.00₹        405.00₹        

Window Regulator Handle (grl) 77.00₹           76.00₹           

Hand Brake Cable 473.00₹        472.00₹        

Camshaft Sprocket 384.00₹        383.00₹        

Assembly Grid 80.00₹           79.00₹           

Bonded Rubber Pad 41.00₹           40.00₹           

Shock Absorber Front 1,497.00₹     1,496.00₹     

Brake Disc. (ventilated) 4,195.00₹     4,194.00₹     

Cap Lh   Front Bumper W/o Paint 7.00₹             6.00₹             

Upper Link Rubber Bush 198.00₹        197.00₹        

Drain Plug 201.00₹        200.00₹        

Water Separator 657.00₹        656.00₹        

Gear Shifting Knob (g 28 Gb) 523.00₹        522.00₹        

Compressor Mtg. Bkt. Front 1,168.00₹     1,167.00₹     

Closing Plate For Cyl.bl. Autotensioner 728.00₹        727.00₹        

A Post Cover Bottom Assy Lh 753.00₹        752.00₹        

Assy Window Regulator Mech Rh 839.00₹        838.00₹        

Bottle Holder Rh 711.00₹        710.00₹        

Gas Spring Of Back Doorssly 625.00₹        624.00₹        

Side Blinker Rh (cat 6 Type) 278.00₹        277.00₹        

Oil Pump Assembly Complete 2,742.00₹     2,741.00₹     

Side Retro Reflector 184.00₹        183.00₹        



Horn Plate 242.00₹        241.00₹        

Starter Assy (bosch) 2.4 Kw Grs 7,050.00₹     7,049.00₹     

Bonnet Top Direction Indica.lamp(grl Rfr 1,426.00₹     1,425.00₹     

Hinge Left 797.00₹        796.00₹        

Foot Step End Cap Lh(tfr) 72.00₹           71.00₹           

Gasket 40.00₹           39.00₹           

Rocker Lever Assembly 2,042.00₹     2,041.00₹     

Compressor Mtg.bkt. Rear 1,028.00₹     1,027.00₹     

Shock Abs Rear Gabriel cg03110 Sm 200 1,379.00₹     1,378.00₹     

Panhard Rod Rubber Bush On Axle 76.00₹           75.00₹           

Door Lock Assly Set 2,008.00₹     2,007.00₹     

Fuel Pipe Assy(feed Pump To Fuel Filter) 207.00₹        206.00₹        

Clutch Plate (dia 280 Mm.) T2 Td3250 6,651.00₹     6,650.00₹     

Assly Idler Pulley Gurkha Td2650cr 1,170.00₹     1,169.00₹     

Needle Bearing 4th Speed Gear 35 X 40 X 36.7 114.00₹        113.00₹        

Head Lamp Assy Lh. (t1 Crv16 Facia) 3,543.00₹     3,542.00₹     

Crown Wheel 10,493.00₹   10,492.00₹   

Assy Crown Wheel With Pinion 8,408.00₹     8,407.00₹     

A Post Cover Bottom Assy Rh 753.00₹        752.00₹        

Fuel Filter Assly (td3250 /td2650 Crdi) 3,255.00₹     3,254.00₹     

Door Grab Handle Lh 477.00₹        476.00₹        

Bearing With Clutch Concentric Slave Cyl 6,104.00₹     6,103.00₹     

Belt Tensioner  td 2200 1,919.00₹     1,918.00₹     

Flange 160.00₹        159.00₹        

Thrust Washer Upper   N 252.00₹        251.00₹        

Bonnet Panel Sub Assly 7,104.00₹     7,103.00₹     

Kit Lined Shoe Consisting Of Fig No.2&3 2,590.00₹     2,589.00₹     

Side Panel Front Bottom Rh 313.00₹        312.00₹        

Tail Lamp Assly. Lh 814.00₹        813.00₹        

Dual Head Lamp Relay 189.00₹        188.00₹        

Front Cross Member Assly T1 Bsvi 4,690.00₹     4,689.00₹     

Steering Wheel (w/o Horn Cap ) T1 2,276.00₹     2,275.00₹     

Cylindrical Pin 8.00₹             7.00₹             

Clutch Release Bearing T2 Td3250 1,349.00₹     1,348.00₹     

Radiator Top Hose T1 Bsvi 363.00₹        362.00₹        

Main Harness 5,635.00₹     5,634.00₹     

Tappet Cover Gasket Bs iii Ed Engine 635.00₹        634.00₹        

Cam Bolt 195.00₹        194.00₹        

Front Fog Lamp With Clear Lens 943.00₹        942.00₹        

Rear Under Run Protective Device (lower) 776.00₹        775.00₹        

Wheel Cylinder Assy  Lh/rh 1,107.00₹     1,106.00₹     

Spacer Sleeve For Rear Axle Assly 306.00₹        305.00₹        

Bicon Switch 163.00₹        162.00₹        

Shackle Assy With Bush 396.00₹        395.00₹        

Conn Rod Bearing Upper 850.00₹        849.00₹        

Cab Door Inner Pad Rh (dual Ac) 432.00₹        431.00₹        

Bracket For New Ac Compressor M/c 612.00₹        611.00₹        



Continuous Cab Door Rubber Sealing Rh 600.00₹        599.00₹        

T R Bearing 426.00₹        425.00₹        

Rubber Sealing (side Fairing) 103.00₹        102.00₹        

Sliding Sleeve 1,907.00₹     1,906.00₹     

Synchroniser Body (2nd & 3rd Speed) 2,326.00₹     2,325.00₹     

Concentric Slave Cylinder (g 28 G.box) 7,461.00₹     7,460.00₹     

Upper Shock Absrober Bush 41.00₹           40.00₹           

Assly. Fuel Tank Cap 61.00₹           60.00₹           

Gasket (thermostat Housing) 109.00₹        108.00₹        

Radiator Assly 10,854.00₹   10,853.00₹   

Tail Lamp Assembly Rh 1,202.00₹     1,201.00₹     

Right Ornamental Lamp 1,768.00₹     1,767.00₹     

Taper Roller Bearing M86649/10 545.00₹        544.00₹        

Cylinder Head Gasket (td 3250fti ) Crdi 1,419.00₹     1,418.00₹     

Name Plate Traveller 229.00₹        228.00₹        

Gasket Cylinder Head Cover (ox 35) 111.00₹        110.00₹        

Main Bearing Std. Set 849.00₹        848.00₹        

Wheel Cap Front Wheel Hub 35.00₹           34.00₹           

Cab Door Hinge 390.00₹        389.00₹        

Laminated Windscreen Glass (t1) E Mrk 5,825.00₹     5,824.00₹     

Door Inner Pad (rear Door) Dual Ac 371.00₹        370.00₹        

Camshaft Position Sensor(bosch) 983.00₹        982.00₹        

Banjo Bolt 31.00₹           30.00₹           

Bolt For T1 Subros A/c 68.00₹           67.00₹           

Thrust Washer 236.00₹        235.00₹        

Head Lamp Assly Rh 2,350.00₹     2,349.00₹     

Side Covering Rh 350.00₹        349.00₹        

Side Covering Lh 330.00₹        329.00₹        

Side Blinker Rh 427.00₹        426.00₹        

Side Blinker Lh 427.00₹        426.00₹        

Head Lamp Assly Lh 2,350.00₹     2,349.00₹     

Assly. Wiper Arm 227.00₹        226.00₹        

Radiator Grill 847.00₹        846.00₹        

Rear Bumper Rh 721.00₹        720.00₹        

Rear Bumper Lh 721.00₹        720.00₹        

Assly Radiator Grill 6,027.00₹     6,026.00₹     

Bonnet Opening Cable T1 (with Knob) 98.00₹           97.00₹           

Number Plate Light (rear Cross Member) 107.00₹        106.00₹        

Assly. Wiper Blade 225.00₹        224.00₹        

Bonnet Panel Assly B006117500009 4,554.00₹     4,553.00₹     

Panel Rear Corner Outer Assly 3,727.00₹     3,726.00₹     

Panel Rear Corner Outer Assly 4,239.00₹     4,238.00₹     

Assy Bonnet Lock 121.00₹        120.00₹        

Assy Bonnet Lock 134.00₹        133.00₹        

Assy Bonnet Hinge Rh 167.00₹        166.00₹        

Assy Bonnet Hinge Lh 204.00₹        203.00₹        

Assy Panel Front Lh 2,677.00₹     2,676.00₹     



Assy Panel Front Rh 2,881.00₹     2,880.00₹     

Nut For Flange 100.00₹        99.00₹           

Spherical Washer 10.00₹           9.00₹             

Crown Wheel 10,493.00₹   10,492.00₹   

Spacer Sleeve For Rear Axle Assly 306.00₹        305.00₹        

T.r. Bearng Duff. Gear 1,079.00₹     1,078.00₹     

Differential Assembly T1 7,661.00₹     7,660.00₹     

Oil Seal 276.00₹        275.00₹        

Oil Seal 185.00₹        184.00₹        

Assy. Coupling Flange 1,101.00₹     1,100.00₹     

Differential Housing (bare) 3,305.00₹     3,304.00₹     

Pin For Differential Pinion 661.00₹        660.00₹        

Crown Wheel With Pinion (4.111 Ratio) 10,383.00₹   10,382.00₹   

Thrust Washer (1.40 Mm) 25.00₹           24.00₹           

Thrust Washer 1.35 Mm 25.00₹           24.00₹           

Spacer Washer As Reqd. 5.56 Mm 99.00₹           98.00₹           

Taper Roller Bearing 560.00₹        559.00₹        

Taper Roller Bearing 1,543.00₹     1,542.00₹     

Axle Bevel Gear 1,751.00₹     1,750.00₹     

Differential Bevel Gear 1,253.00₹     1,252.00₹     

Pin For Differential Pinion 575.00₹        574.00₹        

Thrust Washer   1.30 Mm 25.00₹           24.00₹           

Covering Side Panel Front Lh T2 Scb Tn 1,126.00₹     1,125.00₹     

Covering Side Panel Front Rh T2 Scb Tn 1,126.00₹     1,125.00₹     

Covering Side Pnl Rear .rear Side Lh 941.00₹        940.00₹        

Covering Side Pnl Rear .rear Side Rh 941.00₹        940.00₹        

Covering Side Pnl Front .rear Side Lh 1,301.00₹     1,300.00₹     

Covering Side Pnl Front .rear Side Rh 1,301.00₹     1,300.00₹     

Rear Door Covering Panel Lh (t1) 466.00₹        465.00₹        

Rear Door Covering Panel Rh (t1) 466.00₹        465.00₹        

Covering Panel For Cab Door Lh (t1) 3700 834.00₹        833.00₹        

Covering Panel For Cab Door Rh. (t1)3700 834.00₹        833.00₹        


